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J| 298,954
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= 27,460
= 22,167
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M AU AZ S 149,484 152,566 A 3,082
101 @124l 109,947 109,795 152
04 JI2ZtHZ22HEE = 109,947 109,795 152
O 2l At 109,947
ool 290,000& » 1% = 262 = 12& 90,480
OC4EE JI2=2E3 9,977
-HLEE= 90,880,000& * 3.43% 3,118
“HIIRSBES 3,118,000& * 11.52% 360
=03 90,880,000& * 4.5% 4,090
-IEEE 90,880,000& * 1.65% 1,500
-MHEH 90,880,000& * 1.00% 909
O=XNEQE 300,000& = 1H 300
OFEFItHI 200,000& = 1H « 23| 400
O& &= 290,000 * 30 8,700
o1l =l 90,000& » 1H 90
201 £B-2dH| 16,337 15,811 526
01 At 22/l 16,337 15,811 526
OQUIANA Ol 276
OSfMdl #2 70& * 1,900% 133
OXsxt SAEAM 1002 » 9502 95
OXtsxt HdHA 503 * 950% 48
QUEINE =H+2 50,000& = 12& 600
OXZ e 2ALEMHIA 7,400¥ * 128 89
osclizy, eteta 24 450
ONE=2HM2E MM E 90,000& * 53l 450
ou=l 2,850
OS2 A 90,000& = 11H 990
O & 2R A 90,000& = 18H 1,620
OEAZZE 120,000& » 1H * 23| 240
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O&sgze 224 4,672
O& | 90,0003 = 4CH » 12& 4,320
O M ZHd| 88,000 * 404 352
OZEBAAN SLR
300,000& = 2% = 12& 7,200
ONMUEE2 =24 100,000& * 2% 200
202 04l 12,000 10,260 1,740
01 = LH YI 12,000 10,260 1,740
OS2 2H2A JI=3HI
20,0003 = 10¥ = 5 » 123 12,000
203 YR =&t 3,000 3,000 0
03 A=A H 2 =AH| 3,000 3,000 0
OEAHAY ZR2F2A 3,000,000& 3,000
307 glz2tol & 8,200 8,200 0
01 222 F2Hl 8,200 8,200 0
ofzs 29 3,700
OB5MI0I & =l 8k Xt 2FAIEl K&
1,000& = 2,000 2,000
oAz 1,000,000& 1,000
OLBE 700,000& 700
ostegzs 24 3,000
O%Z 2,200,000& 2,200
OABRE 800,000 800
o=2cizd 29 1,500
O3 1,000,000 1,000
OABE 500,000& 500
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ool 84,0403 * 1Y » 26& » 123 26,221
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O A& & Hl SAldl 45,898
oY) KIE% 16,449
-2AHA 91,890& * 7304 6,708
—X| DH Ot & Al E] 91,890& * 140H 1,287
-BAXA S A 91,890& = 92CH 8,454
OAN&EEH SN2 400,000 * 1700 A 6,800
OFAN ZBANE RANES 18,500
-2 5,300,000& * 1002 5,300
-BAHIA N2 A 1,200,000& * 1104 4 13,200
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O =2 &4l KXl 6,000,000 6,000
405 Ko SHI 3,500 0 3,500
01 JHA =2 ZF S H 3,500 0 3,500
OANRE HA (AR 200,000& * 1H 200
OANEZE oIXHARX) 300,000& = 1JH 300
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BAHAXNARH 308,560 316, 188 NT,628
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OfIds A&+ 1,100
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Al 6,000
OzHLEZSA J183 50,000& * 2004 10,000
J| 5,000
< 1,000
Al 4,000
02 2324l 600 800 2200
OZ2HXNE2 MHZE 150,000& * 49 600
J| 300
< 60




SM: NEBAL ALEED
=
o

Hu: ALEA
el 4B AU CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 240
03 A2 | 1,500 1,500 0
o2 usIZ 2 )a 2EAHY| 50,0008 * 303 1,500
J| 750
< 150
Al 600
301 et M= 25,000 25,000 0
J| 12,500
< 2,500
Al 10,000
12 J|EtE2 A= 25,000 25,000 0]
O 2d9¢
50,000 * 4% x 120 24,000
J| 12,000
= 2,400
Al 9,600
OMAZSAHAY ZHHQ A2UEHAH Al&Z
5,000&¢ * 200H 1,000
J| 500
= 100
Al 400
307 2I2t0| & 20,000 40,000 A 20,000
J| 10,000
=} 2,000
Al 8,000
01 2= =l| 20,000 40,000 A 20,000
OZ2H22HURI (2HEXM, AL2E)
40,000 = 500 20,000
J| 10,000
o= 2,000
Al 8,000
Zagae Ao 2= 7,087,715 3,079,649 4,008,066
= 1,610,635
J| 1,514,710
= 1,031,919
Al 2,930,451
StASEHSHAIY 124,729 132,639 AT7,910
101 21 214| 27,519 35,429 AT7,910
04 JIZtHIZ22XNSES 27,519 35,429 AT7,910
oY ASII2tH 22 X 27,519
OelAdl 79,470 * 29 x 262 *x 62 24,795
Q4 jaeg=2 2,724
-HAEE 24,795,000 * 3.43% 851
- QAL E 851,000& * 11.52% 99
-=20132 24,795,000 * 4.5% 1,116
-122d 24,795,000 * 1.65% 410
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SAM e

S HLEA
BH: AYE
S ZgEgae A 2= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2ZHIE (M S 48)
14,0008 = 485 + 128 672
oZZguE 2229 6,000
OLgY oy E22(ALE HEUI BH
el g) 2,000
-EEES(2lEY 5) 1,000& * 2,000 2,000
OCEYILHRYE W= 2,000
-ZEEEE= 1,000& * 2& = 1,0007H 2,000
oulolIzY 2225 2,000
-E2E2(28) 1,000& » 25 = 1,0000H 2,000
02 =24l 33,282 29,500 3,782
OYALS PACSAMH S X2t
1,200,000& =* 43| 4,800
(OFSPNESE] 28,482
OUSTAUT HLEES U=
550@ = 49,000A 26,950
O HEBFZ HEES 2AUHE
550& = 2,785 1,532
307 glz2tol & 351,438 335,069 16,369
01 222 F2Hl 336,438 320,069 16,369
oHgEsd 24 305,708
ORSHYHET AZ(BYE2AY S 58) 22,766
-BE 2t 5,040 » 6009H 3,024
-Td 11,0008 * 200 2,200
-Tdap 18,0002 * 900 16,200
-HEEA 5,000& = 1009H 500
MESZEEL 8,420& » 1009H 842
OX XM QIS = A XHALS 280,980
—QIE AT YAIY 10,000& = 10,800 108,000
o202 §E Al™H]
19,220& * 9,000 172,980
ONZEEE A=28 228 (FMI &)
1,962,000 1,962
OZAY 29 30,410
OEZZAM 90,0003 » 100 A 9,000
OdYeld At 90,000 1508+ A 13,500
OHY(H=,00l =) A 90,000& * 508+A 4,500
OS89 (L&, 2ct0ICIOHZ A
13,0008 * 100¥ 1,300
OAg 2t Z AL 555,000& » 29+A 1,110
O3 &AM 250,000& * 49 A 1,000
OYAILA 29 320
OgI&ol &=Jt2 40,0003 » 8¢« 320
05 BIZHRIE 3 15,000 15,000 0




A A4EEAL HASED
g ALsd
Sel: Agyme HH PS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ostag 2te| 15,000,000& * 1JH 2 15,000
st e 2el X & 2,166 2,080 86
= 1,083
< 1,083
301 LA S 2,166 2,080 86
2 1,083
< 1,083
01 MEIBZE 263 2,166 2,080 86
OgtdAdZ It MAHH XF  2,166,000& = 1H 2,166
= 1,083
< 1,083
ol & ddE0e 47,880 49,864 A 1,984
J| 23,940
< 7,182
Al 16,758
307 21201 A 47,880 49,864 21,984
J| 23,940
= 7,182
Al 16,758
01 222l 47,880 49,864 A 1,984
OHIV/AIDS &l Z bl 44,140,000 44,140
J| 22,070
< 6,621
Al 15,449
OHIV A0 S 2,000,000& 2,000
J| 1,000
< 300
Al 700
odiiHzEyd d& 2 XI=XJ 1,740,000 1,740
J| 870
< 261
Al 609
MESH2 2SS HAULED PHAL 7,296 0 7,29
J| 3,648
Al 3,648
405 XtAHE S| 7,29 0 7,29
J| 3,648
Al 3,648
01 et EZFH S 7,296 0 7,296
OMNAES T (Level A ES =)
1,500,000& * 1H 1,500
J| 750
Al 750
O23JI5EJ(S1871, &M, SXH)
3,670,000& * 124 3,670
J| 1,835
Al 1,835




2N A4EEHL HLSED
BH: AYE
chel: ZEgael M 25 (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
CEEE I EEE N
1,166,000& * 104 1,166
| 583
Al 583
OMZHY ZSUHSS HSH 20f
460,000& = 1K 460
| 230
Al 230
OMESHZ ZESHSS LEI 20H
300,000& = 12H 300
| 150
Al 150
oML EBEF(Level C BE =)
200,000& = 124 200
| 100
Al 100
S E S A Al 2,740,210 2,364,000 376,210
| 1,370,105
= 411,031
Al 959,074
307 2Iztol ™ 2,740,210 2,364,000 376,210
| 1,370,105
[ 411,031
Al 959,074
01 2 =2L =4l 2,740,210 2,364,000 376,210
O ol HeEas 1,345,200, 000& 1,345,200
J| 672,600
< 201,780
Al 470,820
OOZI0IZ - SXAM U ZSEM AZZAT
HEEE 304,400, 000& 304,400
| 152,200
< 45,660
Al 106,540
O13AMl Oi2lo] S ZAUX HNLEES
37,200,000& 37,200
J| 18,600
= 5,580
Al 13,020
OYAE QST Ol LA 12,800, 000& 12,800
| 6,400
< 1,920
Al 4,480
OHPV 1Xt BE22 X HEEE 28,400,000 28,400
J| 14,200
< 4,260
Al 9,940
OHPV DIESA HYES 161,400, 000& 161,400
| 80,700
< 24,210




AgEAL HAEWY
ALEA
dEgae M 25 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 56,490
oOduLEE 846,450,000& 846,450
J| 423,225
< 126,967
Al 296,258
OBE Y F=4tJ1ZE Gl ALY 4,360,000 4,360
J| 2,180
< 654
Al 1,526
T Z U ALY 48,818 60,760 A 11,942
Il 24,409
< 6,881
Al 17,528
201 £B-2dH| 2,586 4,104 A 1,518
J| 1,293
< 388
Al 905
01 At 22l 2,586 4,104 N 1,518
0E2S(2E% S 35)
1,000& = 3& * 862 2,586
Il 1,293
= 388
Al 905
202 Odl 2,940 3,090 A 150
bl 1,470
Al 1,470
01 = LHA YI 2,940 3,090 A 150
OaxFCt2elG A Kbl 2,940,000& 2,940
J| 1,470
Al 1,470
301 LPENF 1,000 1,000 0
J| 500
< 150
Al 350
01 MEIBEE 263 1,000 1,000 0
OYJAII MAHH XF  1,000,000& = 1H 1,000
Jl| 500
= 150
Al 350
307 gl2tol & 38,292 48,566 A 10,274
J| 19,146
< 5,743
Al 13,403
01 2222l 38,292 48,566 A 10,274
O, ¥ F=EX A 1,310,000& 1,310
| 655
< 197
Al 458
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A A4EEAL HASED
BH: AYE
el ywae M 2E (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 310
01 = LH o4 1l 310 310 0
oS zaELgYE HEZA &30l
310,000& 310
J| 310
ZEEUS 218,222 0 218,222
201 L2l 16,810 0 16,810
01 At 2t 2l 16,810 0 16,810
oz 29 4,410
OZus=e(H=ZH S)
1,000& = 2& * 95004 1,900
OZ&ZIIIa47) &HZ L 4y
170,000& * 3K 510
OxMgs gz & 2 1,000,000 * 23| 2,000
OsgJl dg2cd 2 2,400
OBABE 2 422 200,0008 * 128 2,400
odZrEA 29 2,500
OdgEBA B X Ao
150,000& * 1074 1,500
Odgds A ctEX 10,000& * 1004 1,000
OXxorAel X3 7,500
OXorZEe & 500& * 5,000 * 1& 2,500
OZ M= FDAHUZ
1002 * 50,0000 » 1& 5,000
307 21201 A 201,412 0 201,412
01 927 24| 201,412 0 201,412
OXotAel XA 32,500
O&X ™A 4,000& = 5,000 20,000
OKF94 0tA3 500& = 25,0004 12,500
odglzgs 23 168,912
OVTM 92,9843 =+ 15001 » 123 167,372
O=scl2dE 7,700& = 20004 1,540
D29 Al =24 XA 77,176 11,200 65,976
= 38,588
< 38,588
307 gl & 77,176 11,200 65,976
= 38,588
< 38,588
01 22272l 77,176 11,200 65,976
O22LH9 Al 3 X 24l 77,176,000 77,176
= 38,588
< 38,588
DU A HLEES X (3AH) 8,450 0 8,450
= 8,450




2N
X ZH -
L= B

el

NYBAL ABETDY
ALET
gzl WA 7=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 8,450 0 8,450
= 8,450
01 222l 8,450 0 8,450
OI2Z2LH19 3Ol Xt WAl 5| 4 oH 8,450,000& 8,450
= 8,450
D2LH9 IHIE FUMKE(MITEAIIE) 196,800 0 196,800
= 98,400
Al 98,400
307 212+0 & 196,800 0 196,800
< 98,400
Al 98,400
01 922724l 196,800 0 196,800
OZZLH9 MEKSAXIIINE
4,000 * 49,2004 196,800
< 98,400
Al 98,400
D29 HIEEES AA(AEY]) 3,125,028 0 3,125,028
= 1,562,514
< 468,754
Al 1,093,760
307 2I2+0 & 3,125,028 0 3,125,028
= 1,562,514
< 468,754
Al 1,093,760
01 2724l 3,125,028 0 3,125,028
OZZLH9 HIEES A=Yl 3,125,028,000& 3,125,028
= 1,562,514
< 468,754
Al 1,093,760
EHAANE S ¥ HLEE =4 2,493,259 2,241,042 252,217
= 86,490
J| 1,111,958
< 400,342
Al 894,469
LA el Ad 72,750 102,403 A 29,653
201 Yet2 | 4,750 4,750 0
01 AP 2teltl 4,750 4,750 0
os=2s 1,000& = 4,75004 4,750
307 glz2tol & 68,000 68,000 0
01 2224l 68,000 68,000 0
oY el 68,000
O%E 2 A2 (LM S 158)
20,000& * 3,400 68,000
2tEE X KI 2 AR (THOF) (M 2HALR) 10,555 10,555 0
< 6,861




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Al 3,694
201 LBt Y| 2,800 2,600 200
&< 1,820
Al 980
01 AP 22| d| 2,800 2,000 800
OMIIY EE= 1,000& = 2,8004 2,800
o= 1,820
Al 980
307 QI2t0| & 7,755 7,755 0
=} 5,041
Al 2,714
o1 o= 7,755 7,755 0
O%E &L ADE 7,755,000 7,755
& 5,041
Al 2,714
SIHUXLEEEXN 2 =H K& 355,474 386, 128 AN 30,654
J| 177,737
& 53,321
Al 124,416
308 AXIEHSOIA 355,474 386, 128 N 30,654
J| 177,737
= 53,321
Al 124,416
112 2SUHUSHEAEAE A Y| 355,474 386, 128 A 30,654
OsHEEX 2 =H| 355,474,000 355,474
J| 177,737
=} 53,321
Al 124,416
HAEA 13,110 13,110 0
201 et 9| 12,350 12,350 0
01 AP 22| d| 12,350 12,350 0
OFAMAT MO (MANIHE MA L X4 29
100,000& * 5% = 183 9,000
OFNAHLSE2IRAATG
100,000 * 6Y = 43| 2,400
OFNAHZL L IHaiYy =22 H&
1,000 = 95004 950
301 et A= 760 760 0
09 HAIAHI XIS 2 760 760 0
OBAUALM(HA)FIRE 2Y C+D 7
4 000& * bH = 183 360
OFMALSHSHIAE 29 OY 2
8,000& * 10¥ x 53] 400
HAALEXHEH 29 64,400 184,224 N 119,824
J| 32,200
= 12,880




SH MYEAL ABEAD
BH: AYE
Sl 2HUANB 25 U AV T4 (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 19,320
307 2iz2to| A 64,400 184,224 A 119,824
J| 32,200
= 12,880
Al 19,320
05 QIZ2tRE 2 64,400 184,224 A 119,824
OFMAASXHE 29
64,400,000 * 1 64,400
J| 32,200
= 12,880
Al 19,320
HUAHLEXHEYH BEHS 508,816 254,268 254,548
J| 254,408
&< 101,763
Al 152,645
307 2iz2to| & 508,816 254,268 254,548
J| 254,408
= 101,763
Al 152,645
05 QIZ2tRE 2 508,816 254,268 254 /548
CEREREVRICRCIEE
508,816,000 = 1JH A 508,816
J| 254,408
& 101,763
Al 152,645
Rarog o BAAUASEALY (KHA) 25,000 25,000 0
307 2Iz2t0| & 25,000 25,000 0
05 QIZ2tREF 2 25,000 25,000 0
o249l 25,000,000 * 1o 25,000
Rarog o BAAUSTAIG (EX) 71,260 71,260 0
J| 35,630
& 10,689
Al 24,941
307 giztol A 71,260 71,260 0
J| 35,630
& 10,689
Al 24,941
05 QIZtRES 71,260 71,260 0
(@F=3%:1s] 71,260,0008 * 1004 71,260
Jl 35,630
== 10,689
Al 24,941
LEsEA xis2eld X 25,000 25,000 0
o= 6,250
Al 18,750
307 212t0| & 25,000 25,000 0]




SA: AGEAA HUSADY
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 6,250
Al 18,750
05 RIZtE = 25,000 25,000 0
o=ss3ak Nz XA
25,000,000 = 1004 25,000
< 6,250
Al 18,750
AN =MLY X=d XA 13,000 13,000 0
= 3,032
Al 9,968
307 glz2+ol & 13,000 13,000 0
< 3,032
Al 9,968
05 RIZtE = 13,000 13,000 0
OX&<AEX SSHEX=H X
13,000,000& * 1JH 2 13,000
< 3,032
Al 9,968
NS As &AW WERT 5 4,000 4,000 0
< 1,200
Al 2,800
307 glz2tol & 4,000 4,000 0
< 1,200
Al 2,800
05 RIZHRI &3 4,000 4,000 0
OXZAtal X0 WERD *=
4,000,000&  10H 2 4,000
< 1,200
Al 2,800
FUAL=ETNNEH & SMA HRMHAE X2 21,600 20,400 1,200
< 6,480
Al 15,120
307 gl2tol & 21,600 20,400 1,200
< 6,480
Al 15,120
05 RIZHRIE 3 21,600 20,400 1,200
OFUALSTHE S SMA MRMHLHl X
21,600,000& 21,600
< 6,480
Al 15,120
daEE X=H K3 ALY 8,000 19,000 A 11,000
= 4,000
< 1,600
Al 2,400
307 glz2tol & 8,000 19,000 A 11,000
= 4,000
< 1,600




2N
X ZH -
L= B

el

10 1Y 0x

SEAL HYES
TR
234N 75

o

x4

SN FH-SA(EN) - MBAY - BES

=
i

2

Al

2,400

Xl K& ALY

8,000,000& = 1JHz2x

= Hn

8,000

8,000
4,000
1,600
2,400

19,000

A 11,000

O

Jn
sl
m
Om
]
b
[0

x

[

T
Mo
02
HL

= 0N W

164,980
82,490
24,747
57,743

163,022

1,958

307 21201 &

= M W

164,980
82,490
24,747
57,743

163,022

1,958

164,980,000 * 1JH 2

= N W

164,980

164,980
82,490
24,747
57,743

163,022

1,958

53,000

53,000

53,000

53,000

53,000,000& = 10H A

53,000
53,000

53,000

Jl

m

Al

165,000
77,500
31,000
46,500

165,000

307 21201 &

y

H

Al

165,000
77,500
31,000
46,500

165,000

155,000,000& = 1JH A

Il

n

Al

165,000

165,000
77,500
31,000
46,500

165,000

hn X

Al

665,060
532,049

26,602
106,409

584,224

80,836

[he}
=
e
L
M0
08
=

Jl

tn

Al

510,860
408,689
20,434
81,737

388,824

122,036




SH MEEAL HAEAY
B AYEA
S B HANES & L AL =4
SA - ZE-B(EA) - NRAY - B S il &t o il
01 At 22l 385,876 328,760
OF=—1==IPNE=, 1,372,000& * 1€ * 123 16,464
J| 13,171
< 659
Al 2,634
OXAA AN 32 A =5
100,000& = 23] » 8Y 1,600
J| 1,280
= 64
Al 256
o1l =l 90,000& » 229H 1,980
J| 1,584
< 79
Al 317
oY= &2l 34,5003 = 500 » 12& 2,070
J| 1,656
< 83
Al 331
O3J18&FJ| 2eltl 2,609,000 2,609
J| 2,087
= 104
Al 418
OADIA =D 2teltl 455,000& 455
J| 364
< 18
Al 73
OJSXHED] 2eltl 600,000 600
J| 480
< 24
Al 96
OFALEY =2 1,381,000& * 1€ * 123 16,572
J| 13,258
< 663
Al 2,651
OYRE I UAH ===
770,000 = 1CH = 10& 7,700
J| 6,160
< 308
Al 1,232
OXIDHCHA HEH AtY 2 Z HI 311,162
OXis=E2el & =JHIAY
60,000,000& 60,000
J| 48,000
= 2,400
Al 9,600
OXIOHAAINS L Ol 2e| At
62,162,000 62,162
J| 49,730
< 2,486
Al 9,946




SN AgRAL AABWD
HE: AYSH

= - B9 (3) Y= il
OXHeta0lEs 29 80,000,000& 80,000
J| 64,000
S 3,200
Al 12,800
OXMHetaEs & IIEX2 ALY
25,000,000& 25,000
J| 20,000
S 1,000
Al 4,000
OXHe S HE & 84,000,000& 84,000
Il 67,200
= 3,360
Al 13,440
OXIOHt A HE 2EH| 24,664,000 24,664
Jl 19,732
£ 986
Al 3,946
02 3324t 31,984 20,064
OXIDHtMHEH <# 28,920,000 28,920
Il 23,136
= 1,157
Al 4,627
OV & YRS ,0008 = 128 564
Jl 451
S 23
Al 90
OXt& = Xldl 200,000& ~ 104 = 10& 2,000
Jl 1,600
= 80
Al 320
OZZIHFOHA & 2&8= 500,000& 500
Jl 400
S 20
Al 80
03 A2 EHI 93,000 40,000
oOng, T2y U A =
43,000,000 43,000
Jl 34,400
< 1,720
Al 6,880
OXioietaotEs 29 50,000,000& 50,000
Il 40,000
< 2,000
Al 8,000
202 O 4l 26,400 26,400
Il 21,120
= 1,056
Al 4,224
01 = LHOHI 26,400 26,400




2N
X ZH -
L= B

el

SN HH-S(BN) - MBAY - B il HlnE2
oxHgR =& 100,000& * 229 » 12& 26,400
| 21,120
< 1,056
Al 4,224
301 LPENF 17,400 12,400 5,000
| 13,920
< 696
Al 2,784
09 HALAHIX &S 15,000 10,000 5,000
ouws,Z=z¥ Hel 24 s
15,000, 000& 15,000
| 12,000
< 600
Al 2,400
12JIE243 2,400 2,400 0
O33=d2 skl
200,000& = 1% = 12& 2,400
J| 1,920
= 9%
Al 384
307 21201 A 110,400 156,600 A 46,200
| 88,320
< 4,416
Al 17,664
01 =L =4l 110,400 156,600 A 46,200
OXMWET MBS X
35,000& * 120 » 12& 50,400
J| 40,320
= 2,016
Al 8,064
OsdsE A AZE 423 30,000,000& 30,000
| 24,000
< 1,200
Al 4,800
OXIHEDIE A Akl 150,000& * 2009 30,000
J| 24,000
< 1,200
Al 4,800
XX 222l X & (ML) (& EAY) 140,097 140,097 0
< 91,063
Al 49,034
308 XX EHHSOIA 140,097 140,097 0
< 91,063
Al 49,034
N 3IN2SUHUEE LS A 140,097 140,097 0
OXIOHXI = 2teltl 140,097,000& 140,097
= 91,063
Al 49,034




2N
X ZH -
L= B

el

NYEAL AVETD
AL
ABHAUNE 75 Y AYHY X4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
XNt =sHEXNA 109,115 107,157 1,958
< 20,733
Al 88,382
307 gl2tol & 109,115 107,157 1,958
< 20,733
Al 88,382
01 222l 109,115 107,157 1,958
OXIOHEX SsSHEXH 109,115,000& 109,115
< 20,733
Al 88,382
Aol 22=A XA 3,042 2,900 142
J| 2,434
< 121
Al 487
201 Let24E] 642 500 142
J| 514
< 25
Al 103
01 At 22l 642 500 142
o EX HlE S 642,000& = 1H 642
J| 514
< 25
Al 103
301 LeHEBAF 2,400 2,400 0
J| 1,920
< 96
Al 384
12 J|EtE &= 2,400 2,400 0
O3s=del sk
200,000& = 18 » 123 2,400
J| 1,920
< 96
Al 384
XOHQIADR A XA (IXITHEZZOH 299) 10,000 10,000 0
< 2,000
Al 8,000
201 Let24d| 3,500 2,400 1,100
< 700
Al 2,800
01 At 22l 3,500 2,400 1,100
OAME=EZIdH 22 & WENZE S
3,500,000& 3,500
< 700
Al 2,800
301 LeHBAF 6,500 7,600 A 1,100
< 1,300
Al 5,200




2N

_‘?’_?_‘I — o —
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIX A S 200 200 0
OQRXMME 27 29 200,000& 200
= 40
Al 160
12JIE243 6,300 7,400 A 1,100
©2J194 X201 &=Xl&l 6,300,000& 6,300
= 1,260
Al 5,040
S0 0ts2 AZAE ¥ 1,129,424 820,065 309,359
= 137,239
J| 45,096
< 619,176
Al 327,913
SUEAAY 10,500 10,450 50
201 ¢er24l 10,500 10,450 50
01 At 224l 10,500 10,450 50
OZXNEHAY E2235 M= 2 7 10,500
OLUETNSEXN S EEXN ME
1,000& = 1,0008 » 13 1,000
OZNEAMY 2225 2
2,500& = 95000 » 4& 9,500
FAEME AASL oFZH X 4,000 3,000 1,000
J| 2,000
< 1,000
Al 1,000
308 XXM SO0 A 4,000 3,000 1,000
J| 2,000
< 1,000
Al 1,000
N 33JN2SHUe3&EAE A 4,000 3,000 1,000
OFAELUE HAEL FZH XA
4,000,000& 4,000
J| 2,000
< 1,000
Al 1,000
AFQAMOF A 2] XA (H ALY ) 607,488 366,350 241,138
< 425,242
Al 182,246
308 XXIEHSOIA 607,488 366,350 241,138
< 425,242
Al 182,246
N 3JN2SHUe3&EAE A 607,488 366,350 241,138
OLZAMOtA L 22| X & 607,488,000& 607,488
< 425,242
Al 182,246
Fs0t A2H A 3,381 2,700 681




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Jl 2,705
= 203
Al 473

308 XXM SOl A 3,381 2,700 681
J| 2,705
< 203
Al 473

N 33JN2SUHUeIARAE A 3,381 2,700 681
OZRO0t H&H 3,381,000 3,381
J| 2,705
< 203
Al 473

2=t A2 et S EEHI 1,888 1,888 0
J| 1,510
< 114
Al 264

201 Let24E] 1,888 1,888 0
J| 1,510
< 114
Al 264

01 At 2teltl 1,888 1,888 0
OAHEEHI 1,888,000 1,888
J| 1,510
< 114
Al 264

R0t L HLHAH XA 5,050 2,336 2,714
J| 4,040
< 303
Al 707

307 gl2tol & 5,050 2,336 2,714
J| 4,040
< 303
Al 707

01 22272l 5,050 2,336 2,714
OZ70t LELHM HLZAHI 5,050,000& 5,050
J| 4,040
< 303
Al 707

&Y A& Z AL & &ot2tel 18,964 23,040 A 4,076
J| 9,482
< 4,741
Al 4,741

307 21201 A 18,964 23,040 A 4,076
J| 9,482
< 4,741
Al 4,741

01 92724l 18,964 23,040 A 4,076




SM: NEBAL ALEED
=

g A
e 24 Ots2 H2AAE 28 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ONAS HAIOI A A AN & EHoF22|
18,964,000 18,964
J| 9,482
o=t 4,741
Al 4,741
AN GEHAAL L BFHI| X 1,000 2,000 A 1,000
J| 500
== 250
Al 250
307 2iz2to| A 1,000 2,000 A 1,000
J| 500
= 250
Al 250
01 sd =l 1,000 2,000 A 1,000
O3 AHHl & EFIIX& 1,000,000 1,000
J| 500
= 250
Al 250
Ol=0F & A&H0|&0F 2 24| 26,000 23,040 2,960
J| 13,000
= 6,500
Al 6,500
307 QI2t01 & 26,000 23,040 2,960
J| 13,000
& 6,500
Al 6,500
o1 s R=Hl 26,000 23,040 2,960
O0l=0t & dFH0|A0F 2 =H|
26,000,000 26,000
J| 13,000
= 6,500
Al 6,500
E=2X22H04+F 1,718 1,718 0
J| 859
& 430
Al 429
308 XXIGHH SO0l & 1,718 1,718 0
J| 859
& 430
Al 429
11 BI2SHUSEANRE AIS Y 1,718 1,718 0
OE=R2NEAHEH 1,718,000 1,718
J| 859
== 430
Al 429
Haes 1A (MEANY) 141,700 137,600 4,100
o= 106,275
Al 35,425




SN FH-SA(EN) - MBAY - BES

=
i

2

307 21201 &

H

Al

141,700

106,275
35,425

137,600

01

10

fu

=l

237
=2 AlsH R

ou

0o

141,700,000&

Al

141,700
141,700

106
35

275
,425

137,600

4,100

HUER X ZH NJAMY

11

,260

16,443

A5,183

900

903

A3

2,000& = 450

H

900
900

903

A3

,360

15,540

A5,180

£ XS HIXE

1,036,000& = 10

[wE]

=}

,360

,360

15,540

A5,180

kJ
40
g
iie]
rx
Hr
10
1]
=
bl
o

J|

N

Al

,000

,000
,500
,500

22,000

307 glztol &

J|

Al

,000
,000

5,500
5,500

22,000

ODABALT 2ZH XY

22,000,000

%

= M

22,000
22,000

11,000
5,500
5,500

22,000

HASEE JIMAH ZME2R NEBAMY

= N H

274,475

137,239
68,618
68,618

207,500

66,975

308 XM S0IHE

= MW

274,475
137,239
68,618
68,618

207,500

66,975

OMASE JINF - ZH2R K&

274,475,000

2

= MW

274,475

274,475
137,239
68,618
68,618

207,500

66,975

02
0%

Mo
02
0
==
o>
oo
H
y
-
y
oy
0l
™
[

H

n

,571,605

72,300
385,740
53,896

1,466,362

105,243




SH MYEAL ABEAD
O HWR ALY (MPYRAL ALBAD)
chel: ol gyl CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 1,059,669
ol 2HH| 1,434,453 1,368,222 66,231
= 72,300
J| 385,740
&< 53,896
Al 922,517
oI d| 528,502 615,877 N 87,375
101 Q121 H| 528,502 615,877 N 87,375
01 2= 173,480 132,694 40,786
CEFELES-
10,952& * 44% * 30Al2F = 128 173,480
03 22X (RIHS)22XHE 355,022 483,183 N 128,161
o=22 355,022
OJIE23 (L2 A) 58,137
-Ji=2(65L) 2,422,370 * 2% « 128 58,137
OEs=< 16,320
—Hi L A+ 40,0008 = 15 * 12& 7,200
-&% 20,000 * 4% x 12& 960
W PNIE] 20,000 ~ 7 = 12&€ 1,680
=1 PE] 60,000 * 4% x 12&€ 2,880
oW (PNYE] 100,000 * 3¥ = 128 3,600
254 692,000,000& * 5% 34,600
A 50,000 * 23% * 12& 13,800
O/gx¢ 30,000 * 229 x 12& 7,920
OHel =& 30,000& * 1€ = 12&8 360
Ooglaz2e44¢
8,000& * 23¥ * 52 x 128 11,040
OoOxhz224+4
17,600& * 23 * 15A12F = 128 72,864
OdHZAH| 140,000& * 23¥H = 128 38,640
OY & s0ty| 57,650,000 * 50% * 23| 57,650
OH I AbH| 93,8503 * 23Y¥ * 20¥ 43,171
OBL1WSHI (2SS A 40,000 * 13H 520
AHN01H 128,860 0 128,860
303 ZAZ2 18,400 0 18,400
02 40402 18,400 0 18,400
O22Z(2JH)Z 2 Aae23
800,000 = 23H 18,400
304 HA=22H=2S 110,460 0 110,460
0l 2Re2 45,290 0 45,290
ORLE (2|22 2012 ALY
1,006,429,8402 * 4.5% 45,290
02 2o1AH2AdEE2 38,498 0 38,498




2N AYgEAHAL ALSE Y
HH: ANSYAU (HSTEAL ABSAD)
Sl ol ) CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
FECHICPE B EEIEIEEEEPIEL]
== 38,498
OHLEE 1,006,429,840 * 3.43% 34,521
OIAEE 34,521,000& * 11.52% 3,977
04 22X (LI HL)2 2DV EEIIBH=2SE 26,672 0 26,672
OB (DI 22N DBEE JBRL
1,006,429,840& * 1.65% 16,607
OBRE(I|H )22 T MAMHLE2 S
1,006,429,840& = 1.00% 10,065
XOHOtA HE 2R (EX) 231,651 230,968 683
J| 185,320
= 9,266
Al 37,065
101 121 H| 217,318 216,635 683
J| 173,854
= 8,692
Al 34,772
02 JIEFR &2 %= 217,318 216,635 683
OANZHEEHHAINE B2 I3
1,886,830& * 7H x 12& 158,494
J| 126,795
< 6,340
Al 25,359
OANZAEIHAINN 22 A2 (7TYH)
17,666,000 17,666
J| 14,133
& 707
Al 2,826
(OS] 25,899
RPN 3,360
-8 L A+ 40,0008 * 299 = 128 960
J| 768
& 38
Al 154
B (PNYE] 20,000& * 2 = 12&€ 480
J| 384
o 19
Al 77
-= M X H 60,000 * 2 = 12& 1,440
J| 1,152
& 58
Al 230
-Z=Hl= 20,000& * 2 = 12& 480
J| 384
o 19
Al 77
oA ZREY
8,887& * 7H x 20Al2t » 12& 14,931
J| 11,945




SN AGEHL HAEDD
O HWR ALY (MPYRAL ALBAD)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 597
Al 2,389
OExZRY 90,560& * 79¥ » 12& 7,608
J| 6,086
= 304
Al 1,218
O A It 4| 6,490 = 7H = 77AI2t 3,499
| 2,799
< 140
Al 560
OFUZ A 140,000& = 79 = 12& 11,760
| 9,408
= 470
Al 1,882
204 HR=HAH| 14,333 14,333 0
| 11,466
= 574
Al 2,293
02 A2l 10,658 10,658 0
ONZHEHTYIIT (9B 4 E)
145,000& * 35/40 = 7 * 12& 10,658
J| 8,526
= 427
Al 1,705
03 EZYFEHI 3,675 3,675 0
OANZIEEH A H Hol&E s
50,0002 * 35/40 = 794 * 12& 3,675
J| 2,940
< 147
Al 588
NEEENEOEICES 72,360 71,360 1,000
| 36,180
Al 36,180
101 1A bl 70,312 69,312 1,000
| 35,156
Al 35,156
02 JIEtE B = 33,611 29,311 4,300
OAZEEHAINH S2E Jl2=
1,886,830& * 1¥ * 123 22,642
J| 11,321
Al 11,321
OAZHEEHAIH S2& duadd=s
3,364,000& = 1H 3,364
J| 1,682
Al 1,682
o= 1,680
ONANBHSY 1,680
—bH < Xt 40,000 * 1 = 128 480
| 240




2N
X ZH -
L= B

el

0z

ro 02

J¥ 0z 00
M0 MO HI

d4 A28
QI (AgEAL H2SEL)
& H

SA - BB (3) - NRAL - B Of & o il
Al 240
-&% 20,000& = 198 « 128 240
J| 120
Al 120
e PNE 20,000& = 1% = 128 240
J| 120
Al 120
-=MAH 60,000& = 1% = 12&8 720
J| 360
Al 360
GNP
8,887& * 1F = 20AI2t « 128 2,133
J| 1,067
Al 1,066
OS2 &th| 6,490% 1 = 11 » 7Al2t 500
J| 250
Al 250
o/EZ2R=+Y 43,7502 = 18 * 123 525
J| 262
Al 263
OEx=ARxY 90,5604 * 1H » 123 1,087
bl 544
Al 543
OZHZAHI 140,000& » 198 = 12E 1,680
bl 840
Al 840
IR (RIAH) 222+ 36,701
oOZ#HHM2ASAH(1Y) 36,701
Ol 36,701,000& 36,701
J| 18,350
Al 18,351
2L AY| 2,048
J| 1,024
Al 1,024
02 g2 =4l 1,523
OAIFEER DI A
145,0002 * 35/40A12F = 1Y * 12& 1,523
J| 761
Al 762
CEEEEE] 525
ONHHEHTY I e E#SH (ZEZHI)
50,0002 * 35/40 = 14 * 128 525
J| 263
Al 262
NAAE SHALSTANL(2X) 128,300
J| 64,150
< 12,830
Al 51,320




0z

ro 02

gEAL HAASTUY
H2IdH(4gE2HL HAST)
H24H

L=
SN HH-S(BN) - MBAY - B il HlnE2
101 14 Hl 128,300 141,840 A 13,540
| 64,150
< 12,830
Al 51,320
03 BRI (RINAHY)2=NHES 128,300 141,840 A 13,540
OSEHLBIAY M2l oMY (6F) 128,300
(@)iRal:] 127,100, 000& 127,100
| 63,550
= 12,710
Al 50,840
O&zod W= 240,000& = 5H 1,200
| 600
< 120
Al 480
BAA Y EAHAHAM(EX) 24,840 23,640 1,200
| 12,420
< 2,484
Al 9,936
101 14l 24,840 23,640 1,200
| 12,420
< 2,484
Al 9,936
03 B2 (RIAHA)2Z2NHE > 24,840 23,640 1,200
O2HtY AHNOUAIY M2z 21AH (1Y) 24,840
ool 24,600,000 24,600
| 12,300
< 2,460
Al 9,840
Odzod st 240,000& » 1H 240
| 120
< 24
Al 96
ANEANSSA 2ARNJAMEBIA(EBX) 148,560 141,360 7,200
J| 74,280
< 14,856
Al 59,424
101 @124l 148,560 141,360 7,200
J| 74,280
= 14,856
Al 59,424
03 3R (RINHY)2ZHES 148,560 141,360 7,200
OS3HAMEA L SAAM 21 (6F) 148,560
Ol 147,600, 000& 147,600
J| 73,800
= 14,760
Al 59,040
O&2od W= 240,000 » 49 960
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SA: AGEAA HUSADY
HE: HWR ALY (MYRAL ALSAD)
erel: Jl= 2| (29 a8)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OEDI 2,5008 * 150 ~ 12€ 4,500
202 o4l 61,600 41,568 20,032
01 2L HI 61,600 31,968 29,632
OJ|=Z& | 20,0008 = 51 * he x 12& 61,200
S22 (RIAHS)22 L 2A=SZ Y|
40,000& = 103 400
203 & 2 =&XH| 7,440 6,840 600
04 FEASHEYIFFEH| 7,440 6,840 600
(OPIEL 7,440
03092 0]atk 400,000 = 12& 4,800

O30 =t 5,000 = 4498 « 128 2,640




N = 0 &8 AFH Y & A AN
20229 &= 20l & LEHSH MK
SM: HEBAL
Bu: AYET
el BACBAIM IR E CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MNEE2AHA 16,537,191 13,473,491 3,063,700
2 1,990,242
Dl 3,539,991
T 2,259,154
Al 8,747,804
AL S&E 14,259,262 11,355,363 2,903,899
= 1,881,888
Dl 3,108,289
< 2,188,930
Al 7,080,155
SAdZ AL IS 810,275 642,525 167,750
= 2,782
Al 807,493
N2 P A2 S 135,695 136,244 AN 549
101 @121l 109,947 109,795 152
04 J|2ZtH2ZXNEE S 109,947 109,795 152
© 2| AF 109,947
O] 290,000& * 1Y = 262 * 128 90,480
O4HEE J|&a82eg2 9,977
-H2AEE 90,880,000& * 3.43% 3,118
- YEE 3,118,000& * 11.52% 360
-=0l1H= 90,880,000& * 4.5% 4,090
-18EE 90,880,000& * 1.65% 1,500
“MTHE S 90,880,000& * 1.00% 909
OY &SIyl 200,000& * 1Y * 23] 400
O=XNEAE 300,000& * 1H 300
O&d3 290,000& = 30¢« 8,700
Ol =l 90,000& = 14 90
201 Yet2 | 7,128 6,649 479
01 AP 22l Yl 7,128 6,649 479
OIAMNA Ol 1,954
O HH 2= 703 * 6,200% 434
OXNsSx SAMEM 100& = 3,800% 380
OXs i &4 A A 50& = 3,800% 190
OF=xt& 25& * 38,0008 950
ONEINE EFH+2 100,000& = 12& 1,200
OXlg & S A A 7,400& * 128 89
o2cxzsa 249 1,945
ONE=XelE MM S 95,000& * 53] 475
OHEHNEHI 190, 000& 190
OE=272¢ 10,0008 * 28%& 280
OFEUAHHAME 200,000& * 5AMIE 1,000
(ORIl 1,440




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O2S A 90,000& = 5H 450
g2 Y AZREAM 90,000& = 11H 990
ONMUEE22 =204 100,000& * 5% 500
202 oddl 4,800 4,560 240
01 = LH o4 1l 4,800 4,560 240
OZEZ22H2A JI&=3HI
20,0003 = 49Y = 5 » 128 4,800
203 R =&l 3,000 3,000 0
03 AIBZ=XH S =AY 3,000 3,000 0
OEAHAY HE2FA 3,000,000& 3,000
307 21201 A 9,700 9,700 0
01 =2 =4l 9,700 9,700 0
ofzs 299 7,200
OB65MI01 & ol g Xt 2t HIHl X
1,000& * 6,500 6,500
OA%E 300,000& 300
Ox2E 400,000& 400
o=2cxzd 29 2,500
o= 1,500, 000& 1,500
Ox2E 1,000, 000& 1,000
405 XHoHE S HI 1,120 2,540 A 1,420
01 AL EZFH S 1,120 2,540 A 1,420
O NI &I (21KG) 1,120,000& = 1CH 1,120
BHARY 324,201 143,279 180,922
201 Let24d] 199,101 117,279 81,822
01 At 22l 111,135 37,410 73,725
OLIZAANEE ZRBRIHEU 6,780
oA 4,470
- Bt 210,000& = 38 * 53| 3,150
==l 330,000& * 43 1,320
Odz 4 210,000& = 1& = 73l 1,470
Ogfekate| 213 It 210,000& * 43 840
OREANFE SAEX 966
ogaa 21,0003 » 25 A 525
Oxlga 21,000& * 158tA 315
Ogletate| 215t 21,0003 » 6% A 126
OZENSE 2,1702 = 3000 * 12& 782
ode=I 22/l 2,304
(O)=RaE 31,350 = 208 » 12& 753
OBAX A& 28,5003 * 24 + 12& 684
O)-FaFSE=E 36,100& * 2JH 4 + 12& 867




SM: HEBAL
Bu: AYET
Crel: EAOBAA JlU RS (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O2JI&83dD| 2eltl 43,0008 = 9O = 12& 4,644
OA2AEEIAHB0 st =5 24,036
ORoIAYRY 242 4,440
-2AX A 100,000 = 2 & = 12&€ 2,400
-8AHx=Z A 85,000& = 2 A = 128 2,040
OHJIZ2H™el ==& 12,774
-2 HHII=S Mel 11,784
gHAN 850,000& * 1oHA = 128 10,200
cEAHAX A 33,000 « 204 « 12€ 792
cBANS A 33,000 * 201 A = 12 792
-H=Hel 825& * 600L * 23| 990
O&J|etE e W2 5,082
-2AXA 107,250 = 2o & = 12&€ 2,574
-8AHx=Z A 104,500& = 204 = 128 2,508
Odt=XMelAld e HaE+2(8T)
145,000& = 1A = 128 1,740
o282 Ml =2 250,000& = 23| 500
O=222 Z23ITI =2
300,000& = 2JHAF = 33 1,800
ONMEEEHA B2 2 69,323
OAE 4 01 A 5,000,000& 5,000
O2to Y ALY AIRIE S
1,150,000& * 65 6,900
ogtig ¥ 224 4,400,000 = 128 52,800
O] 22yl 32,900 x 204 ~ 12&€ 790
OZ2JI83D| &2ldl 34,9008 = 60 = 128 2,513
ORoFHIEA =5 110,000 = 12& 1,320
02 33249l 87,966 79,869 8,097
03322 % MA 21,864
(OrsPIETr=: 1,800,000& * 12& 21,600
OoldA |cHYI 22 22,0008 ~ 12& 264
OXNTKIXH(BY ANSXUHAH E =T 45,300
O& Xt 2,700,000& = 8CH 21,600
O&ssxt 4,900,000 = 2CH 9,800
Os&Ex 6,500,000& = 1CH 6,500
Ost=2 Xt 4,300,000& = 1CH 4,300
[OES=PN; 3,100,000& * 1CH 3,100
OFAMAHER XY 5,482
OBAX A 2,832
208 0laH (&) 3,767 = 352m x 1A 1,326
-25E0lat (& 0]) 4,288 * 351m = 1Ji A 1,506
[@)=Ra PN =N 2,650
-25E 0lak(0l) 4,288 = 361m » 1A 1,548




2N
X ZH -
L= B
el

ACAZ AL Jlgta =

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

-250lat (oA ) 5,5102 % 200m = {1044 1,102
OA&E&Hl KX 9,320
Oodue)] S22 60,000& = 62CH 3,720
OFA AIE&&EH X2 100,000& * 165 1,600
OB A ZHANE SIES 4,000,000& 4,000
o9 &l sl 6,000,000 6,000

401 Al HIL 201 37,000 0 37,000

01 Al &bl 37,000 0 37,000
OANIEZHA E2 2|28 37,000
OAIR4A gl2aal 20,000,000& 20,000
OBSXNM(ZH, S0l 5) 17,000,000& 17,000

405 X+H&HF SHI 88,100 26,000 62,100

01 MMt = S F SHI 88,100 26,000 62,100
OIXHA 22X E) 300,000& = 10CH 3,000
OMA(MRIE) 200,000& = 2CH 400
OB2AHAY Xt 58,500,000& = 1CH 58,500
OHLtE D] 2,000,000& * 1CH 2,000
03 2g Hol= 2,000,000& * 1CH 2,000
032 AKXt 150,000& * 8CH 1,200
OIEl A 1,500,000& * 5J0 4! 7,500
OMBIR 1,600,000 = 5JH & 8,000
on+ ¥ 2AHF 1,100,000& = 5JH & 5,500

BAXNL2H 172,390 179,550 AT,160

201 Bt H | 19,890 20,550 A 660

01 At 22l Yl 2,250 2,250 0
OAIREE 190,000& * 24 x 23] 760
OZelHEUY 209,000& * 28 * 20 A 836
OMAWAN 2T IS X 137,000& * 204 & 274
OY0 BEAHXNA stHXESA 29 380
OARE(+AH S 48) 95,000& * 45 380

02 =294l 17,640 18,300 A\ 660
o332= % HA 17,640
(OFrsPIETE=: 700,000& * 2oHA = 128 16,800

Oasdla==23(<0l)

30,000& = 1A = 128 360
Oogests= 20,000 » 204 = 128 480

307 212+0| & 147,000 144,000 3,000

01 el =H| 147,000 144,000 3,000
=H0| 5,000
ogdetx g 2,500
%= 2,000,000 2,000




SA: NRASAL
=X
[T

M AYEW
Crel: EAOBAA JlU RS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-A2F 500,000& 500
Ogtgd = 2,500
-5 2,000,000& 2,000
-A2F 500,000& 500
HE (A2 HUAXSR) 142,000
Oogerd = 133,500
-5 130,000, 000& 130,000
-ARE 3,500,000& 3,500
Ostgd = 8,500
i 6,000, 000& 6,000
223 2,500,000& 2,500
A S 5,500 0 5,500
MU EZFHSHI 5,500 0 5,500
== 5,500
O&ER= A 5,500,000& = 1CH 5,500
A2 63,476 33,896 29,580
22 bl 16,676 16,696 £20
AHS 2t el i 3,476 3,466 10
OMEES 190,000& * 2JH & * 23] 760
OZeEHEUY 209,000 * 2& * 204 836
Os=2HiEA HIIE3 S5
100,000& * 20 A& 200
oAz A~ 2 A
30,000 * 14 * 2004 * 23 1,680
S22 10,900 10,780 120
o0z22= % HA 10,200
(OFSPIRTE=; 400,000 * 202 * 128 9,600
O&adt==23(ot4)
20,000& = 1A + 128 240
ORdgsEE 15,000& * 2JH 4 + 12& 360
OFSEHA 100,000& * 20 & 200
OHfa =22 250,000& = 200 2 500
HAHZ S HI 2,300 2,450 A 150
oHZEsIZZ20Y 29 2,300
OZAZ 50,000& = 2JH 4 * 153 1,500
OoxZz0dy 29| 400,000& * 202 800
LEtEN S 1,200 1,200 0
JIEtEA S 1,200 1,200 0
oA=L 2HEAYHY g5+
50,000& * 2JH 4 + 12& 1,200
gIztol & 16,000 16,000 0




2N
X ZH -
L= B

el

A
X

0y o
10 0% HL

HDOMY >

\J

4

[

SAE IR

SAH-EB .S (3H) - HEAY - BE2 il HDS2
0122 Z bl 16,000 16,000 0
O%= 7,000,000& * 2044 14,000
(OFEYE=— 1,000,000& * 20 A 2,000
401 Al Bl 20 HI 26,000 0 26,000
01 A& HI 26,000 0 26,000
otz S &bl 6,000,000& 6,000
O=U & =9 E2ZAH(F0) 20,000,000& 20,000
405 XtakF SHI 3,600 0 3,600
01 Mt =SFHSH 3,600 0 3,600
O%<& (30, 450,000& = 204 900
OME DI (0], 700,000& = 2CH 1,400
o122 A1 (30l 500,000& * 1CH 500
©32 A (0l 800,000& * 1CH 800
2AXE HyBe 480 480 0
== 144
Al 336
201 LEt2AY| 480 480 0
< 144
Al 336
01 AFR2t2l bl 480 480 0
OB+ 1n=H| 240,000& * 29 480
= 144
Al 336
BHiNE A BxX0™H 10,833 10,315 518
= 2,638
Al 8,195
101 @121 8] 10,833 10,315 518
= 2,638
Al 8,195
04 JIZtHI22NEE 10,833 10,315 518
OBHAZ A BXoI(2Y) 10,552,000& 10,552
& 2,638
Al 7,914
o4t JI22E2 281
Oonsesd 10,552,000& * 1.65% 175
OMEE 10,552,000& * 1.00% 106
HFANE YA 23X 103,200 91,221 11,979
201 YEt2 A H| 13,000 10,000 3,000
02 332494l 13,000 10,000 3,000
OFFANEUYYEIA TIANE SNES
13,000,000& * 1JH 4 13,000
401 Al HI L 2 THHI 11,000 81,221 AT70,221




SA: NRASAL
=X
[T

B AYEA
Crel: EAOBAA JlU RS (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 11,000 81,221 NT70,221
OHFANER2AYERI AME2 FII1EdZE & 22 11,000
OAN&E=Z HD| otdEAH 4,000,000& * 23] 8,000
SATNE(24HE) N - B 3,000,000& 3,000
405 XtabF SHI 79,200 0 79,200
01 AL 2B F SHI 79,200 0 79,200
OFFANEQAYEA BAHAZHH 7+ 79,200
osls ds&aU 950,000& * 3004 28,500
OXEZ(EKG) 2LIE 4,400,000& * 3CH 13,200
OXsSA&EE2D](AED) 2,500,000& * 1CH 2,500
OLNSINERII(200L) 28,000,000& * 1CH 28,000
o=s=3aM 3,500,000& * 2CH 7,000
ME = AL XI|D] 1,063,461 1,127,952 N64,491
Jl 365, 142
T 232,740
Al 465,579
AQIAZLS A 109,947 109,795 152
101 2124 4| 109,947 109,795 152
04 JI2ZtHZ2E2XNEE S 109,947 109,795 152
(©pniz=ipN 109,947
oot 290,000& * 19 * 26 » 12& 90,480
O4HEE J|l&a8g2 9,977
-HAEE 90,880,000& * 3.43% 3,118
A YEEH 3,118,000& * 11.52% 360
-=20H= 90,880,000& * 4.5% 4,090
-182E 90,880,000& * 1.65% 1,500
-MTHE S 90,880,000& * 1.00% 909
(@F=FSE=l 3] 200,000& = 1H = 23] 400
O=2XNEIUE 300,000& * 1H 300
O&E &3 290,000& « 30 8,700
Ol =t 90,000& *= 1H 90
& XJ|ZE AL 269,996 340,600 AT70,604
Dl 134,998
& 40,499
Al 94,499
308 AXISHMSOIHA 269,996 338,600 N 68,604
Dl 134,998
& 40,499
Al 94,499
11 SISO USE AN E AIS Y 269,996 338,600 N 68,604
(@F=PR] 269,996, 000& 269,996
Il 134,998
< 40,499




SN HRZAA
HE: AYSH
Sl ME & AL (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 94,499
283X HAZHA 36,800 40,000 N 3,200
J| 29,440
o 2,208
Al 5,152
308 XAHXIEHSOIA 36,800 40,000 N 3,200
| 29,440
o 2,208
Al 5,152
11 BIZ2SUHUSHEAEAE A Y| 36,800 40,000 N 3,200
O & &gl 36,800,000 36,800
J| 29,440
= 2,208
Al 5,152
LS O 2H|I KR (HEALY) 241,906 196,740 45,166
& 157,238
Al 84,668
307 giztol A 241,906 196,740 45,166
& 157,238
Al 84,668
o1 s R=tl| 241,906 196,740 45,166
o2& o= Hl A& 241,906,000 241,906
== 157,238
Al 84,668
XA 2H 2R A 68,556 68,554 2
J| 34,278
Al 34,278
202 044l 500 500 0]
J| 250
Al 250
01 2L I 500 500 0
OXEANT AL XA O4H| 500,000& 500
J| 250
Al 250
307 2iz2to| A 68,056 68,054 2
J| 34,028
Al 34,028
05 QIZ2tRE 2 68,056 68,054 2
OKXN A AT 242X AHH| 68,056,000 68,056
J| 34,028
Al 34,028
KNGAE SSAHLSTAIY 227,844 247,846 A 20,002
J| 112,220
=} 22,444
Al 93,180
101 e1214| 40,069 50,614 A 10,545




SN HRZAA
HE: AYSH
Helr Mg &5 A2 X310 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 18,332
< 3,666
Al 18,071
04 D12t Z2XREES 40,069 50,614 A 10,545
OSEHALSTAY MBI (2Y) 40,069
Ol (Z A 84,0403 = 26 * 2 4,371
J| 2,185
< 437
Al 1,749
OQIHHI (X AHA) 84,0409 * 26 * 128 26,221
J| 13,110
< 2,622
Al 10,489
O&l&= 5,043, 5,043
J| 2,522
< 504
Al 2,017
Odzod W 240,000 * 240
| 120
< 24
Al 96
o1 =l 90,000& 90
J| 45
< 9
Al 36
O=XNEQE 300,000& = 144 300
2l 150
< 30
Al 120
OFEFItHI 200,000& = 19 400
J| 200
< 40
Al 160
OC4EE JI22E3 3,404
-A2AEE 30,992,000& * 3.43% 1,064
B3I RLEE 1,064,000& * 11.52% 123
=8z 30,992,000& * 4.5% 1,395
-1ESE 30,992,000& * 1.65% 512
-MHEE 30,992,000& * 1.00% 310
201 £B-2dH| 52,575 66,572 A 13,997
J| 26,288
< 5,258
Al 21,029
01 At 22l 33,940 47,440 A 13,500
OAYMHEMAAY 2,000& = 10& = 50004 10,000
J| 5,000
< 1,000
Al 4,000




M MEEAL
Bu: AYET
SRl ME = AT I (298 R)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
ORLEHAEY 2,060& * 5& = 1,000 10,300
Jl 5,150
S 1,030
Al 4,120
ONTHEBE oYyl A
2,000& * 5& = 1,00004 10,000
Jl 5,000
S 1,000
Al 4,000
OXNSA2SHMHE AL
2,000& * 1Z = 500 1,000
J| 500
£ 100
Al 400
OgAECZX A2 u=FEE HLIMHOIE AEE
220,000& * 123 2,640
Jl 1,320
& 264
Al 1,056
02 s5=9Hl 4,135 3,732 403
OSEHLSTUAMNLE HH=H PCAIESE
76,0002 * 404 ~ 128 3,648
2l 1,824
& 365
Al 1,459
ORERI(SINAH) 4,870 = 10004 487
Il 244
= 49
Al 194
03 A2 14,500 15,400 2900
ovydEsd T2 29
50,0008 * 203 1,000
Jl 500
= 100
Al 400
OdrgadeogaciAg 2208 29
100,000& = 203l 2,000
Jl 1,000
= 200
Al 800
OYLTF ALud T2 2¢
200,000& = 203/ 4,000
Jl 2,000
= 400
Al 1,600
OSYAULSIAMY HL 1,500,000& » 53 7,500
Il 3,750
S 750
Al 3,000
301 gEtE N = 10,000 2,600 7,400




SA HRABAA
Bu: AYET
Sl M & AL (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 5,000
< 1,000
Al 4,000
12 JIEtE4 3 10,000 2,000 8,000
OAIBIENH Alat=a 5,000& = 2,000H 10,000
J| 5,000
< 1,000
Al 4,000
307 Qiz2tol & 125,200 128,060 22,860
| 62,600
< 12,520
Al 50,080
01 4=2L =4l 125,200 128,060 A 2,860
OFZ&eANY 235 & 423
2,000,000& = 23| 4,000
| 2,000
< 400
Al 1,600
OY¥AEA BEFAEH|
75,0003 * 1159¥ » 123 103,500
J| 51,750
< 10,350
Al 41,400
OZFASelA BAE 223 70,0008 » 108 700
| 350
= 70
Al 280
Osgaza AANE A2F
32,000& * 1& » 1259 A 4,000
| 2,000
< 400
Al 1,600
OYaE oM £ B2 10,000, 000& 10,000
| 5,000
< 1,000
Al 4,000
OXGASSA THEANY 45 L A2F
2,000& * 28 = 75004 3,000
| 1,500
< 300
Al 1,200
BAL NLHHEB M2 S (FUTP) 2,940 0 2,940
J| 1,470
Al 1,470
201 Let249] 2,940 0 2,940
J| 1,470
Al 1,470
01 At 22/ 2,940 0 2,940
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L L
Ha: AY
Mg

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 120
ORERIS(SIAE) 2,000& » 100 200
2l 100
20
80
03 A2 S HI 1,400 1,400 0
O=gus T2 2 AtHl 50,000 = 283l 1,400
700

140
560

=

ol R

301 LEtEH S 11,000 10,000 1,000
Jl| 5,500

1,100
Al 4,400

N

P43 11,000 10,000 1,000
2N 2Y4Y

50,0008 * 2% * 1002 10,000
| 5,000
1,000
4,000
ONEO A& 5,0009! * 200% 1,000
p] 500
100
Al 400

= M

H

[m]
J

307 21201 A 30,000 40,000 A 10,000

Jl 15,000
= 3,000
Al 12,000

[
r

01 2 30,000 40,000 210,000

m
o
w4
o)

=

©
oy
R M

o
JC
Mo

A (SHEXN, ARE)

40,0008 * 750 30,000
Jl| 15,000
,000
Al 12,000

H
w

zagzel MA 2= 7,186,966 3,650,226 3,536,740
1,741,401
1,609,792

984,964
Al 2,850,809

n YW

SAE LAY 105,739 112,849 AT,110

101 @124l 27,519 35,429 AT,910

22ANSES 27,519 35,429 AT,910
= JIZHMZ22 & 27,519

24,795

O4lHEE JI2ARE= 2,724

28 24,795,000& * 3.43% 851

RYEE=E 851,000& * 11.52% 99
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SA HRABAA
Bu: AYET
chel: ZEgael M 25 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=03 24,795,000& * 4.50% 1,116
-IEEE 24,795,000& * 1.65% 410
“MHEH 24,795,000& * 1.00% 248
201 L2l 2,400 2,400 0
02 2324l 2,400 2,400 0
ogAdA=ZH KAl 400,000& 604 2,400
206 = Hl 75,820 75,020 800
01 =8l 75,820 75,020 800
OYAAZ(ZERELSH S 58) 66,000
@)k EA 30,000& = 1L = 1,0000H 30,000
OsSgAH 30,000& = 1L = 600H 18,000
OLHEH 30,000 = 1L * 600K 18,000
OYAE HHES 720
oxg= 90,000& = 4H 360
(OS2 p)] 15,0008 * 49 60
Ootd 3t 60,0002 » 4H 240
O2X 15,0008 * 4% 60
OTEDIHIN 2E88 HEE3
4,000& * 2& * 1,1004 8,800
O&MI HEE &ME 24 30,0008 = 1094 300
2y me 409,474 413,865 ~4,391
201 LB-2d| 47,899 50,998 A 3,099
01 At 22/ 13,674 20,948 AT,274
oHgEss 24 9,820
OU&E Mal & 60& = 95,000& 5,700
OHLEES €22 1,0008 = 2& = 2,000 4,000
OAsE2HHEYE) 2LIIEXN
120,000& » 1A 120
OgMNEY 2 1,004
OZANHI =LY SEHx2
20,0003 = 4H =« 43| 320
O2YHIZ (25N S 48)
14,2504 * 48 = 123 684
oz 2229 2,850
OZgY ol EES(H2s HASLI| HH
o 5) 950
-EEES(2lEY 5) 950&  1,000H 950
ooz 22825 1,900
-E2E2(IYEE S 28)
950& * 2& = 1,00004 1,900
02 3322l 34,225 30,050 4,175
OYALHPACSHH = Xl 2 2=t
1,200,000 * 43| 4,800




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFXRH 29,425
OUESZRAUT HYES AUHE S
550& = 51,000 28,050
O HEFZ HYES 2AUHE
550& = 2,500A 1,375
307 21201 A 361,575 351,415 10,160
01 2L =4l 344,175 334,015 10,160
ongzasy 249 312,295
ORZUHYES AEBELHE S 53) 37,585
-BE2tH 5,040& = 2,500H 12,600
-Td 11,0002 * 400 4,400
-Tdap 18,000& * 1,000 18,000
-HEIEA 5,000& = 5009 2,500
ESZEEL 8,420& = 10H 85
OX XM 1 EFATH A HI 272,980
—QIE AU YAlY 10,000& = 10,000 100,000
-o20|&2 EF Al
19,220& * 9,000 172,980
OHEESE A58 2RE(FAI] 5)
1,730,000& 1,730
OdANMA 29I 31,560
Sz ZA 90,0003 * 80 A 7,200
Ogel& Al 90,000& » 100 A 9,000
Odg (s, o= S)HA
90,0003 » 100 A 9,000
Odg (4, SetolCior) & At
13,000& » 250 3,250
OAg 2t Z A 555,000& » 2¥+A 1,110
OZ &I AM 250,000 * 8&tA 2,000
OYMNEY 2 320
Qoo 25 It 40,000 = 84 320
05 QI &t 3 17,400 17,400 0
Oty zte| 17,400,000& * 1JH A 17,400
StMlH S AL 22| XI& 12,996 10,396 2,600
= 6,498
< 6,498
301 LEHZ 12,996 10,396 2,600
= 6,498
< 6,498
01 A3l EE E 56l = 12,996 10,396 2,600
OgtdLt=Z It MAHH X 2,166,0008 * 6H 12,996
= 6,498
< 6,498
Olol= & o 67,680 66,662 1,018




FN NEAEA R
Bu: AYET
S ZgEgae A 2= (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 33,840
< 10,152
Al 23,688
307 i+l & 67,680 66,662 1,018
J| 33,840
< 10,152
Al 23,688
01 22 F 24l 67,680 66,662 1,018
OHIV/AIDS & =28l 57,142,000& 57,142
J| 28,571
< 8,571
Al 20,000
OHIV H A0 S 3,818,000 3,818
J| 1,909
< 573
Al 1,336
OodiiHzaEd & 2 X=X 6,720,000 6,720
J| 3,360
< 1,008
Al 2,352
SIH L E S A Al 2,749,434 2,577,622 171,812
J| 1,374,717
< 412,414
Al 962,303
307 21201 A 2,749,434 2,577,622 171,812
J| 1,374,717
< 412,414
Al 962,303
01 =LA =4l 2,749,434 2,577,622 171,812
O0eol HeEdEs 1,362,400,000& 1,362,400
J| 681,200
= 204,360
Al 476,840
ONE0IE - FXHM L =SsH AS AU
HEES 267,400,000& 267,400
J| 133,700
< 40,110
Al 93,590
O13M Oglol ASRAX HYES
38,000,000& 38,000
J| 19,000
< 5,700
Al 13,300
OYA R QASFAHI HHTES 14,400, 000& 14,400
J| 7,200
< 2,160
Al 5,040
OHPV 1Xt EE22 X HEEZE  30,600,000& 30,600
J| 15,300




SA HRABAA
g ALsd
chel: ZEgael M 25 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 7,530
Al 10,710
OHPV DIESX LTS 173,400, 000& 173,400
J| 86,700
= 26,010
Al 60,690
odel HeEdEsE 858,392,000 858,392
J| 429,196
< 128,758
Al 300,438
OB 2tE =412 HEAY 4,842,000 4,842
J| 2,421
= 726
Al 1,695
T Z ALY 65,906 64,642 1,264
J| 32,953
= 9,446
Al 23,507
201 Let2d] 4,480 4,656 A176
J| 2,240
< 672
Al 1,568
01 At 22l 4,480 4,656 A176
OEES(2E# S 28)
1,000& * 2& = 2,240 4,480
bl 2,240
< 672
Al 1,568
202 odl 2,940 3,090 A 150
J| 1,470
Al 1,470
01 = LH 4 1l 2,940 3,090 A 150
oaZctae] G2 A ol 2,940,000 2,940
J| 1,470
Al 1,470
301 LEHZ 1,000 1,000 0
J| 500
< 150
Al 350
01 MI2EZE 06z 1,000 1,000 0
OLYABHA MABl XI&  1,000,000& » 1H 1,000
J| 500
< 150
Al 350
307 21201 A 53,486 49,896 3,590
J| 26,743
< 8,024
Al 18,719




SA HRABAA
M ALEZ
ool dEgnel M 2E CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01z +=d 53,486 49,896 3,590
Ogod FEX HAH| 1,310,000& 1,310
| 655
= 197
Al 458
ogAIIET LAH X 884,000& 884
bl 442
= 133
Al 309
OZHIIAHT S HANS 2 L F=
Zg e 19,138,000& 19,138
| 9,569
= 2,871
Al 6,698
OZSHE A AL & XX A 15,688,000 15,688
| 7,844
< 2,353
Al 5,491
OZHAZTIIAM & HE=2IHAIANS S
16,466, 000& 16,466
J| 8,233
= 2,470
Al 5,763
308 XtXIEHXI S 0l 4,000 6,000 A 2,000
| 2,000
< 600
Al 1,400
1 2O ZSHEZEAESE A 4,000 6,000 A2,000
OHIRFET LAY U
400,000& = 102 4,000
J| 2,000
< 600
Al 1,400
DR LAY (RN HE) 36,180 35,680 500
| 18,090
Al 18,090
307 21201 A 36,180 35,680 500
| 18,090
Al 18,090
02 B LAHEX 36,180 35,680 500
O2HA S I Zel X
36,180,000& * 1¥ * 1JHA 36,180
J| 18,090
Al 18,090
S/ Bzl A 108,447 106,950 1,497
| 108,447
307 21201 A 108,447 106,950 1,497
| 108,447




A ARAEAL
H: HASN
gy el MAH 2H o &)

5 - 4
- B (3) - NRAY - BAS of 4 o4 e 2
02 I BAAMAEE 108,447 106,950 1,497
QozJ|& ZHe X 2AelXH
36,149,000& * 3& * 104 108,447
Il 108,447
clgaEdgd Z=ZANMA 29 38,000 38,000 0
Il 38,000
307 glztol & 38,000 38,000 0
2l 38,000
05 22t & =3 38,000 38,000 0
os4gA WY - 22l
28,000,000& * 10H £ 28,000
Il 28,000
oOFNWEA ol - 22l
10,000,000& * 10§ £ 10,000
Il 10,000
SoPLHY E2ZAMA 22 (224l) 310 310 0
Jl 310
202 Ol 310 310 0
Jl 310
01 =LHOIHI 310 310 0
Oz 2AHZTF BE=T Al ES0Hl  310,000& 310
Jl 310
SHd =S¥ U ¢ 8¢ A& 3,000 3,000 0
Il 1,500
T 1,500
201 2gr= 4l 3,000 3,000 0
Il 1,500
= 1,500
01 At 22l bl 3,000 3,000 0
Od=Hc olis&d Let+=EHl
3,000,000& = 12 3,000
Jl 1,500
= 1,500
SH2 XSHS2Y HAU257 X 3,870 2,810 1,060
Il 1,935
Al 1,935
405 XHAHE S| 3,870 2,810 1,080
Il 1,935
Al 1,935
01 ML ESFH=H 3,870 2,810 1,060
031587l 3,670,000& * 1CH 3,670
Jl 1,835
Al 1,835
Odlgc 2= 200,000 = 1CH 200
Il 100
Al 100




2N
X ZH -
L= B

el

2el WA 7=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
D29 Al X =24 N & 77,176 13,600 63,576
= 38,588
< 38,588
307 gl2tol & 77,176 13,600 63,576
2 38,588
< 38,588
01 222l 77,176 13,600 63,576
O2ZZ2LH9 Aelg X =l 77,176,000 77,176
= 38,588
< 38,588
DL BA LS NA(SIAH) 8,430 0 8,430
= 8,430
307 glz2tol & 8,430 0 8,430
= 8,430
01 22724l 8,430 0 8,430
OZD2LH19 SOl Xt SR Al 5] A4 oK 8,430,000 8,430
= 8,430
Z2gdie 124,554 0 124,554
201 2et24d] 8,410 0 8,410
01 At 22l 8,410 0 8,410
CEETNEY- 4,410
Ozsszs(F=zH 5)
1,000& = 28 = 95004 1,900
OZs2TIaR)| BT o TH
170,000& * 3H 510
OxMgs #Z o 2y 1,000,000& * 23| 2,000
OdEERA 29 4,000
OMBEEA OHHS L 40 KX
3,000& = 5& = 10004 1,500
OXotZel et & 500& * 5,000% 2,500
307 glz2tol & 116,144 0 116, 144
01 22724l 116,144 0 116, 144
OXxirAel K& 32,500
OFSPAY: ISP 20,000
OKF94 0tA 3 500& * 25,0004 12,500
odglzs 23 83,644
OVTM 92,9843 * 6601 » 12& 73,644
OHEXEL 29 40E
1,000& = 53 * 2,0004 10,000
D29 HIEES AA(AEY]) 3,375,770 0 3,375,770
= 1,687,885
< 506,366
Al 1,181,519




SN HRZAA
HE: AYSH
el Awae M 2 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,375,770 0 3,375,770
= 1,687,885
< 506,366
Al 1,181,519
01 22272l 3,375,770 0 3,375,770
ORZLHY9 HILES AlHI 3,375,770,000& 3,375,770
= 1,687,885
= 506,366
Al 1,181,519
AZHANS S L HLEE =4 4,052,690 4,963,630 A910,940
= 3,250
J| 1,083,097
< 347,288
Al 2,619,055
A2l ALY 75,600 75,420 180
201 B2l 3,600 3,420 180
01 At 22l 3,600 3,420 180
Os=2s 1,000& * 3,600 3,600
307 21201 A 72,000 72,000 0
01 =L =4l 72,000 72,000 0
O%E L A2E (I LM S 1563)
20,000& = 3,600H 72,000
SEX NEAG (MOt ) (HEAY) 10,555 10,555 0
< 6,861
Al 3,694
201 et 2,800 2,600 200
< 1,820
Al 980
01 At 22l 2,800 2,000 800
oMty 222 1,000& = 2,800H 2,800
= 1,820
Al 980
307 gl2tol & 7,755 7,755 0
< 5,041
Al 2,714
01 2=2L A =4l 7,755 7,755 0
OAFT A AZF 7,755,000& 7,755
= 5,041
Al 2,714
SIAUGXLSEER o=H XI& 355,474 182,000 173,474
J| 177,737
< 53,321
Al 124,416
308 XXM SOIA 355,474 182,000 173,474
J| 177,737




SN HRZAA
HE: AYSH
Sl 2HUANB 25 U AV T4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 53,321
Al 124,416
N 3JN2SUHUSBAHAE AR 355,474 182,000 173,474
OslHE &K 2= h| 355,474,000 355,474
J| 177,737
< 53,321
Al 124,416
Fa2A 34,360 35,260 A 900
201 Let2d] 34,120 35,020 A 900
01 At 22l 34,120 35,020 A 900
ONMBZBUAZEXNLEEH ARA U
1,980,000& * 128 * 1JHA 23,760
OFAMALM(MANIRS A U B &g
130,000& * 6F + 128 = 1A 9,360
OZdAZ & XUy EE2= HAH
1,000& = 1,00000 * 102 1,000
301 LA F 240 240 0
09 HALAHIXI &3 240 240 0
OFMAZYA(MANRRESE 2 28 7¢
20,000 = 123 = 1004 240
FAUTHEAE 29 1,792,075 1,731,974 60, 101
307 glz2tol & 1,792,075 1,731,974 60, 101
10 ALSISXAIEEE2EHEX 1,792,075 1,731,974 60, 101
OFLMMEAE 2LHI(4M2)
1,792,075,000& 1,792,075
FAAL=XNHEH 2 64,400 184,224 A 119,824
J| 32,200
< 12,880
Al 19,320
307 glz2+ol & 64,400 184,224 A 119,824
J| 32,200
= 12,880
Al 19,320
05 RIZHRI &t 3 64,400 184,224 A 119,824
OFAMAZ=RNEH 29
64,400,000& * 1004 64,400
J| 32,200
< 12,880
Al 19,320
FAAHL=RNEYH dss 477,015 108,972 368,043
J| 238,507
= 95,403
Al 143,105
307 I+l & 477,015 108,972 368,043

Jl 238,507




SN HRZAA
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 95,403
Al 143,105
05 RIZtE = 477,015 108,972 368,043
OFANASTIME 0lA2E
477,015,000& = 1004 477,015
J| 238,507
< 95,403
Al 143,105
ey o HAALSTIAG(EX) 61,106 61,106 0
J| 30,553
< 9,166
Al 21,387
307 glz2tol & 61,106 61,106 0
J| 30,553
= 9,166
Al 21,387
05 RIZHRI &3 61,106 61,106 0
o=2gHl 61,106,000& * 1JH 2 61,106
J| 30,553
< 9,166
Al 21,387
aog & JAALSTAL(XA) 25,000 25,000 0
307 21201 A 25,000 25,000 0
05 RIZt2IEt = 25,000 25,000 0
o=24gHl 25,000,000& * 1JH =4 25,000
SESSEM Az2e XA 27,000 25,000 2,000
< 6,750
Al 20,250
307 gl2tol & 27,000 25,000 2,000
< 6,750
Al 20,250
05 BIZHRI & 3 27,000 25,000 2,000
osssEN Nz XA
27,000,000& * 1JH 4 27,000
< 6,750
Al 20,250
NaAEX S=2HY X=H XA 20,000 20,000 0
= 4,442
Al 15,558
307 21201 A 20,000 20,000 0
= 4,442
Al 15,558
05 BIZHRI & 3 20,000 20,000 0
OXA<EX SSHY NgH XA
20,000,000& * 1JH A 20,000
[ 4,442




2N
X ZH -
L= B

el

oy x>
tU 0 {0
PO HT

QA

ve

o

X
o
4
fol
e

L AUBY T

A -

HE - S (SA) - HRA - By S

Off &t 24

=

i
2m

Al

15,558

KNS A2l tadey WEHAD 75

= M

4,000

1,200
2,800

4,000

307

H

Al

4,000

1,200
2,800

4,000

©
>
12
o
>
14
=
0z
=
Im

93 7=
4,000,0008 * 1942

= M

4,000

4,000

1,200
2,800

4,000

0
J
fal
rx
o
on

SM MLl K&

m

Al

16,800

5,040
11,760

12,000

4,800

H

Al

16,800

5,040
11,760

12,000

4,800

OFJUAHL=FXNME S SAX HRIHLH X
16,800,000&

= M

16,800

16,800

5,040
11,760

12,000

4,800

_'ﬂ
d
3]
==
>
o
>
9

= N H

6,500
3,250
1,300
1,950

19,000

A 12,500

307

= N H

6,500
3,250
1,300
1,950

19,000

A 12,500

05

OZMEE X224l X ALY

6,500,000& * 1A

Z W

6,500

6,500
3,250
1,300
1,950

19,000

A 12,500

o
il
0x

H

Al

165,000
77,500
31,000
46,500

165,000

307

y

H

Al

165,000
77,500
31,000
46,500

165,000

05

i
ru

165,000

165,000




SN HE2AA
HE: AYSH

SRl ABHANE DS Y AYBY X4

A - ER(EN) - AR - B of & o4 SSa HIDZ2
OSHIUALSTAL
155,000,000 * 1042 155,000
Il 77,500
= 31,000
Al 46,500
Aot el 2SR 593,780 590,758 3,022
Il 475,024
& 23,751
Al 95,005
201 fet2E | 412,560 409,758 2,802
Il 330,048
< 16,502
Al 66,010
01 At 22l bl 321,560 329,911 A 8,351
O"HAAN =& 1,372,000& = 198 * 128 16,464
Jl 13,171
= 658
Al 2,635
OZ22A MZMEIN &g
100,000& «* 2 200
Jl 160
& 8
Al 32
Ozle &4 =& 2,000
OXSA2I g a2 &4 =g
100,000& » 8H = 23 1,600
Il 1,280
& 64
Al 256
OXMHESS=AAY Atellzglel &4 =4
100,000& = 4H 400
Il 320
= 16
Al 64
OXSS=AANY =AHE F2H S
500,000& * 1 500
Il 400
= 20
Al 80
ou=Hl 90,000& * 23H 2,070
Jl 1,656
S 83
Al 331
Od2=+I| 2l 32,900% = 304 * 128 1,185
Il 948
= 48
Al 189
O3J1¥3J| 22l 32,650% « 600 * 128 2,351
Jl 1,881
& 94




SA HRABAA
Bu: AYET
CHelr ARHANE PE U AABY =4 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 376
ol 2eldl 23,9003 = 2CH = 12& 574
| 459
< 23
Al 92
OHALEY =& 1,049,000& = 12 12,588
| 10,070
< 503
Al 2,015
OXIHeta dlH 2diHs ¥ 22l
2,640,000& = 12& 31,680
| 25,344
< 1,267
Al 5,069
ORIMREH ==& 110,000& * 12& 1,320
| 1,056
= 53
Al 211
OXIDHCHA HIEH ALY 2 Z HI 238,628
OXis=E2el & =JHIAY
92,228,000& 92,228
| 73,783
= 3,689
Al 14,756
OXIOHAAINS & Ol 2el At
28,000,000& 28,000
| 22,400
< 1,120
Al 4,480
OXloHetalotE 22 7,400,000& 7,400
J| 5,920
< 296
Al 1,184
OXMesHeEd & HESXIAY
27,000,000& 27,000
J| 21,600
= 1,080
Al 4,320
OXIHetA HIE 210 ¥ =2 84,000,000& 84,000
| 67,200
< 3,360
Al 13,440
OXIOHeHA M 2Z I 1,000,000& * 12& 12,000
J| 9,600
< 480
Al 1,920
02 8323l 53,000 39,847 13,153
OXIOHetAMHE RBE 2522 38,000,000& 38,000
| 30,400
< 1,520
Al 6,080




SN HE2AA
HE: AYSH

Sl 2HUANB 25 U AV T4 CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OTV & Y 2= 53,900& ~ 12& 647
Jl 518
S 26
Al 103
OXGAME B223 £
1,000,000& = 123 12,000
Jl 9,600
S 480
Al 1,920
OANEEH RXE2=+= 1,153,000& 1,153
Il 922
= 46
Al 185
OodHEI RIES 70,000& * 10CH 700
J| 560
£ 28
Al 112
OLZISBFOMA & =4 23 500,000 500
Il 400
= 20
Al 80
03 A= S HI 38,000 40,000 A2,000
on=, T2y & N 29
24,000,000& 24,000
Il 19,200
= 960
Al 3,840
OXicty0ts 29 14,000,000 14,000
Jl 11,200
S 560
Al 2,240
202 Ol 27,600 27,600 0
Jl 22,080
= 1,104
Al 4,416
01 SLHOHI 27,600 27,600 0
OXg: & 04l
100,000& * 23F = 12& 27,600
Jl 22,080
S 1,104
Al 4,416
301 Ltz 9,620 9,400 220
Jl 7,696
£ 385
Al 1,539
09 AL HIXES 9,620 9,400 220
Ous, Zzd « AW 24 S
6,710,000& 6,710
Jl 5,368




SA HRABAA
Bu: AYET
BFHANS 25 L AABHE T4 SREED
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
== 269
Al 1,073
Oxioetaite 29 2,910,000& 2,910
J| 2,328
= 116
Al 466
307 21201 A 144,000 144,000 0
| 115,200
= 5,760
Al 23,040
01 2L =4l 144,000 144,000 0
OXIOHex AMES X&
35,0003 * 2009 = 12& 84,000
| 67,200
< 3,360
Al 13,440
oz ¢ =8 AB2F 30,000,000& 30,000
| 24,000
= 1,200
Al 4,800
OXIHEIZX HLUAAH  150,000& * 200H 30,000
J| 24,000
= 1,200
Al 4,800
XWX Z2el8l (LHB)X & (MSsAS ) 112,838 112,838 0
< 73,345
Al 39,493
308 AXIEH S0l 112,838 112,838 0
< 73,345
Al 39,493
N 3IN2SUHUE3AREAE A I 112,838 112,838 0
OXIOHXI =2 2teldl 112,838,000& 112,838
< 73,345
Al 39,493
Xheel S3=4 X& 1,969 2,025 A D56
J| 1,576
< 78
Al 315
201 £B-2dH| 169 225 A 56
| 136
< 6
Al 27
01 At 2t 2|l 169 225 A 56
OAE EE2E HUATH HI= 169,000& 169
| 136
< 6
Al 27
301 LBEXS 1,800 1,800 0




SN HRZAA
M ALSE
Sl CIRFGNS 7S Y AYHE T4 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 1,440
< 72
Al 288
12 JIEtE2 A= 1,800 1,800 0
OTZHA FEXAY
200,000€ = 1 = 9 1,800
J| 1,440
= 72
Al 288
XOHEX =S HEXA 109,218 101,204 8,014
= 20,751
Al 88,467
307 2iz2to| A 109,218 101,204 8,014
& 20,751
Al 88,467
o1 s R=dl 109,218 101,204 8,014
OXIONeX =sMHEXSH 109,218,000 109,218
o 20,751
Al 88,467
XOHQUAI AR KA (X HE T2 29) 10,000 10,000 0
=} 2,000
Al 8,000
201 et 9| 3,500 2,400 1,100
& 700
Al 2,800
01 AP 2t 2] d| 3,500 2,400 1,100
OeXNMEEZZ ) =E2E5 & A= S
3,500,000 3,500
= 700
Al 2,800
301 et M= 6,500 7,600 A 1,100
= 1,300
Al 5,200
09 #HAIAHI XIS 2 200 200 0
OCXNME T2 29 200,000& 200
& 40
Al 160
12 JIEtE2 A= 6,300 7,400 A 1,100
©J| X320l E=X<2H(30H) 6,300,000& 6,300
= 1,260
Al 5,040
Xt @UHe ZTTAY N 100,000 100,000 0
J| 50,000
Al 50,000
307 QI2t0| ™ 100,000 100,000 0
J| 50,000
Al 50,000




SA: HRBAL
MY AYEX

Sl CIRFGNS 7S Y AYHE T4 CERED
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 100,000 100,000 0
OZELEA XMl =203 2I X
100,000,000& * 1JH 2 100,000
J| 50,000
Al 50,000
240 Otsel HAZAe S 1,140,965 933,235 207,730
= 137,237
J| 48,858
< 620,556
Al 334,314
SUEAAY 15,400 10,830 4,570
201 ¢er24| 15,400 10,830 4,570
01 At 22/l 15,400 10,830 4,570
OZXNEHAY EE2=23 M&E 2 7 15,400
OYUETNSAEXN S EEXN ME
1,000& * 2& * 950% 1,900
OZNEAMY 2225 2
2,500 * 4ZF * 95004 9,500
OUMNE UHSX AHUE Y
40,000& = 1004 4,000
FAEME AASL o FH X 4,000 3,000 1,000
J| 2,000
< 1,000
Al 1,000
308 XX EHH SOl 4,000 3,000 1,000
J| 2,000
< 1,000
Al 1,000
N 3JN2SHUeB A A 4,000 3,000 1,000
OFALHAER JASL YZHIXR
4,000,000& 4,000
J| 2,000
< 1,000
Al 1,000
AFQAMOF A2 XA (& ALY ) 607,487 474,100 133,387
< 425,241
Al 182,246
308 XX EHHSOIA 607,487 474,100 133,387
< 425,241
Al 182,246
113/ 2SoHUHSZAEEALS I 607,487 474,100 133,387
OLZ2AIMOF Az2e| XJ 607,487,000 607,487
< 425,241
Al 182,246
22t HZZA et S EE2HI 1,888 1,888 0
J| 1,510




SA HRABAA
Bu: AYET
2 240 0fs2 AZAS2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 113
Al 265
201 LBH2E| 1,888 1,888 0
J| 1,510
< 113
Al 265
01 At 22l 1,888 1,888 0
OAIZE=2HI 1,888,000& 1,888
J| 1,510
< 113
Al 265
FS0t A2 H A 4,851 3,900 951
J| 3,881
< 291
Al 679
308 XtXIEHHSOIA 4,851 3,900 951
J| 3,881
< 291
Al 679
1 3I2SOIHEHE & X 2 AL I 4,851 3,900 951
od &l 4,851,000 4,851
J| 3,881
< 291
Al 679
HHO0F YETZOH EL2AH XA 5,050 2,336 2,714
J| 4,040
< 303
Al 707
307 glz2tol & 5,050 2,336 2,714
J| 4,040
< 303
Al 707
01 2222l 5,050 2,336 2,714
OZR0t L LA A 5,050,000& 5,050
J| 4,040
< 303
Al 707
SE A HALOI & Z AL & EHot2tel 24,136 26,880 AN2,744
J| 12,068
< 6,034
Al 6,034
307 21201 A 24,136 26,880 N2, 744
J| 12,068
< 6,034
Al 6,034
01 92724l 24,136 26,880 A2, 744




SN HRZAA
HE: AYSH
2 240 0fs2 AZAS2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdEd MOl Z AL & Eotatel
24,136,000 24,136
J| 12,068
< 6,034
Al 6,034
dEd HEFAL R 2FI XA 1,000 2,000 1,000
J| 500
< 250
Al 250
307 glz2tol & 1,000 2,000 A 1,000
J| 500
< 250
Al 250
01 222l 1,000 2,000 A1,000
OZAHl & EHIIXA 1,000, 000& 1,000
J| 500
= 250
Al 250
Ol=0F ¥ A& H0I&0t o= 26,000 23,040 2,960
J| 13,000
< 6,500
Al 6,500
307 21201 A 26,000 23,040 2,960
J| 13,000
< 6,500
Al 6,500
01 92724l 26,000 23,040 2,960
O0l=0t & L0140t 2 =HI
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N BB (3H) - MEAY - BES ﬁlf& HD=2
Al 192
201 LBt 45,866 52,076 N6,210
J| 22,933
== 4,586
Al 18,347
01 At 22l bl 29,986 36, 196 N6,210
OFRUEBAHAY 5,000,000 5,000
J| 2,500
== 500
Al 2,000
OAHLME AN ALY 16,986,000& 16,986
J| 8,493
== 1,698
Al 6,795
OALE2AEE A2 AH 6,000,000 6,000
J| 3,000
o= 600
Al 2,400
OXNGAMISAMEAS 2,000,000& 2,000
J| 1,000
= 200
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03 &AL E Y| 15,880 15,880 0
OAHLME AN A 50,000& =* 1603l 8,000
J| 4,000
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Al 3,200
OYUE AN 220,000 * 43| 880
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OXNEAMNISATEANH 50,000& * 803 4,000
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NGAsSs A M A 202,671
J| 78,842
< 15,768
Al 108,061
101 121 4] 60,368
J| 27,440




TP
ALEX
MEHE AH2AXI| D] (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 5,488
Al 27,440
04 JI2ZtHIZ22NEE S 60,368 75,639 N 15,271
O2HAY JI2tMZ22 XH(2Y) 60,368
oelrAgl 2,050,000& * 299 = 128 49,200
J| 24,600
& 4,920
Al 19,680
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-H2AEE 50,000,000& * 3.43% 1,715
- RYEE 1,715,000& * 11.52% 198
-=20133 50,000,000 * 4.5% 2,250
-NE88 50,000,000& * 1.65% 825
-MHEE 50,000,000& * 1.00% 500
O™ ESIHYI 200,000& * 2% x 23| 800
J| 400
& 80
Al 320
OEXEQAE 300,000& * 2H 600
J| 300
o 60
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OE& &= 2,050,000 = 2 4,100
J| 2,050
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Al 1,640
(@I E==x:]! 90,000& = 2H 180
J| 90
& 18
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Jl 36,402
o=t 7,280
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= 3,420
Al 13,681
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= 1,416
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03 A2 I 1,500 1,600 A 100
O=3¢us T2 2 AtHl 50,000 + 303! 1,500
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01 22724l 24,000 20,000 4,000
O=2¢Zeld 2 (SHEXZH, A28)
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-=0013 24,795,000 * 4.5% 1,116
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ongdEss 24 338,240
ORSHYTET AZ(BEAYE S 48) 33,640
-BE 2t 5,040% = 1,000& 5,040
-Td 11,000& » 100 1,100
-Tdap 18,000& * 1,500 27,000
-HEEA 5,000& = 100 500
OX XA 2! b AFS HI 302,200
-elrE=d 10,000& = 11,000 110,000
o=l 88 gl
19,2208 = 10,000 192,200
OULEE g2& 22EF(FAI| S)
2,400,000 2,400
OZAA 29 43,950
OEa7&dA 90,000 1508 A 13,500
Ogel& At 90,000& = 1508 A 13,500
OHY(H=,0l0l=)ZA A 90,000& * 508tA 4,500
OdY (Y&, Setolcior)d At
13,000 * 3004 3,900
OAg2tE ZA 555,000 » 10=+A 5,550
O & E A 250,000 * 12&8tA 3,000




Off &t 24

=

i
2m

2 40,0008 » 8¢

g el 20,000,000 = 10024

20
20

320
320
,000
,000

20,000

SRl

4

2
2

,332

,166
, 166

8,316

A 3,984

oy

4

2
2

,332

, 166
, 166

8,316

N 3,984

Ostdl&Z A+ MAHl XI&  2,166,0008 » 2H

W

4

4

2
2

,332
,332

, 166
,166

8,316

A 3,984

S

t

63

31
9
22

720
,860
,558
,302

58,724

4,996

307 glztol &

Hhn X

Al

63
31

9
22

,720
,860
,558
,302

58,724

4,996

2
1o
HU
Ha
1
fu
o=

O©HIV/AIDS & =2 4] 58,120,000&

OHIVEIE Al 0 S 4,000,000

OdiiHzagd & ¥ N=SXF 1,600,000

Il

= H

Jl

H

Al

Il

= N

63
58

29
8
20

4
2

720
,120
,060
718
,342
,000
,000
600
,400
,600
800
240
560

58,724

4,996

ol R

4,088
2,044

613
1,431

,912

,456
,336
,120

3,807,480

281,432

307 21201 A

Jl

= M

4,088
2,044

613
1,431

,912

,456
,336
120

3,807,480

281,432

01 =472l

OO0Eol HYES 2,433,000,000&

Hhn X

4,088
2,433

1,216
364

912

,000

,500
,950

3,807,480

281,432




SN EERAL
M ALEZ
ool 2 BRAWNTS (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 851,550
ONE0IE - FXHM Y =S ASIAUT
HEES 432,000,000& 432,000
| 216,000
[ 64,800
Al 151,200
O13AM Oiglo] AEZANX HMLES
54,200,000& 54,200
| 27,100
< 8,130
Al 18,970
OLAE AS2AHR HEEHS 26,800,000& 26,800
| 13,400
< 4,020
Al 9,380
OHPY 1Xt S22 X L& S 37,800,000 37,800
| 18,900
< 5,670
Al 13,230
OHPYV DIEEX HYEE 215,000, 000& 215,000
J| 107,500
< 32,250
Al 75,250
odol HeEs 881,072,000 881,072
| 440,536
< 132,160
Al 308,376
OB 2t =412 g HlEAY 9,040,000 9,040
J| 4,520
< 1,356
Al 3,164
A2 30 ALY 56,892 59,490 £2,598
| 28,446
< 8,092
Al 20,354
201 Lt 2| 5,168 4,104 1,064
| 2,584
< 775
Al 1,809
01 At 22l 5,168 4,104 1,064
OEES(2E# S 38) 5,168,000 5,168
| 2,584
< 775
Al 1,809
202 O4dl 2,940 3,090 A 150
| 1,470
Al 1,470
01 = LH 4 Hi 2,940 3,090 A 150
osxdct&e YR ol 2,940,000& 2,940




SN EERAL
M ALEZ
ool 2 BRAWNTS (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 1,470
Al 1,470
301 LEHZ 1,000 1,000 0
| 500
< 150
Al 350
01 A3l EE & 56l 3 1,000 1,000 0
OLATHA MALl XA 1,000,000 * 1H 1,000
| 500
= 150
Al 350
307 21201 A 41,784 45,296 A3,512
| 20,892
< 6,267
Al 14,625
01 2L =l 41,784 45,296 A 3,512
YA =X H&Hl 1,966,000 1,966
| 983
< 294
Al 689
OZSHE AL & XA 10,022,000& 10,022
| 5,011
< 1,503
Al 3,508
ogAIIT LALIXE 884,000& 884
| 442
< 133
Al 309
OZHVIYR S HAHE 2 L =2
Zg e 19,138,000& 19,138
| 9,569
= 2,871
Al 6,698
OZHABIIN L HILHATAL S
9,774,000& 9,774
| 4,887
< 1,466
Al 3,421
308 XXM S0 A 6,000 6,000 0
| 3,000
< 900
Al 2,100
11 SISO CHE & X2 E AL HI 6,000 6,000 0
OYORBSNAAY Do
600,000& * 103l 6,000
| 3,000
< 900
Al 2,100
ORI T 2elAY 36,149 35,650 499




SN EERAL
M ALEZ
ool 2 BRAWNTS (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 36,149
307 glz2tol & 36,149 35,650 499
| 36,149
02 It M AHE X 36,149 35,650 499
CEES RIS BT
36,149,000 = 1H » 1A 36,149
| 36,149
oZEUIdE HEE2LZAMA 23 20,000 20,000 0
| 20,000
307 gl2tol & 20,000 20,000 0
J| 20,000
05 DIt e 2 20,000 20,000 0
oFUHR oY - el
10,000,000& * 2J7H £ 20,000
| 20,000
o AEAUIY H22AMA 2F(29Hl) 310 310 0
J| 310
202 Odl 310 310 0
J| 310
01 =2 LHAYI 310 310 0
OQzaHZTE HE2ZAl 830Ul 310,000 310
| 310
MEHH =UHS2A MNHAESFH FOXA 500 4,910 AN4,410
| 250
Al 250
405 XHoHF S HI 500 4,910 AN4,410
| 250
Al 250
01 XML 2 ZF S| 500 4,910 AN4,410
Olevel C 235 200,000& = 14 200
J| 100
Al 100
OR&I| 300,000& = 1CH 300
| 150
Al 150
D29 FAelgJX =24 XA 112,254 18,000 94,254
= 56,127
< 56,127
307 glz2tol & 112,254 18,000 94,254
= 56,127
< 56,127
01 2=2L =4l 112,254 18,000 94,254
OZ2Z2LH9 AelgJAX =l 112,254,000 112,254
= 56,127
< 56,127




SN BHBAL
Bu: AYET
ool 2 BRAWNTS (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DL A oL EE XA (SIAH) 11,610 0 11,610
= 11,610
307 gl2tol & 11,610 0 11,610
= 11,610
01 2224l 11,610 0 11,610
OI2ZLH19 3Ol Xt WAl S 11,610,000& 11,610
= 11,610
DL MIZEES AA(AEH]) 4,482,842 0 4,482,842
= 2,241,421
< 672,426
Al 1,568,995
307 BI2t0| & 4,482,842 0 4,482,842
= 2,241,421
< 672,426
Al 1,568,995
01 22724l 4,482,842 0 4,482,842
OZDZLH9 WY ES AldHHl  4,482,842,000& 4,482,842
= 2,241,421
< 672,426
Al 1,568,995
Z2gdie 218,052 0 218,052
201 2et24d] 16,640 0 16,640
01 At 22l 16,640 0 16,640
oz 29 4,240
OzHMES(B=ZH 5)
1,000& = 28 = 95004 1,900
OZZIIa7) &= ¥ 2H
170,000& * 204 340
OxMgs #Z o 2y 1,000,000& * 23| 2,000
O0s&8Jl dEg2cd 22 2,400
OFAEE ¥ A2E 200,000& = 12& 2,400
odgllags 24 2,500
odgras iy & sxg
150,000& * 107K 1,500
Ougd=Z A eteXl 10,0002 * 1004 1,000
OXxorAel K& 7,500
OXot=Ee 2tz 500& * 1& = 5,00004 2,500
OZAZE HHUE
100& = 1& * 50,0004 5,000
307 glz2tol & 201,412 0 201,412
01 22272l 201,412 0 201,412
OXotzel X 32,500
OdX ™22 4,000& = 5,0000H 20,000
OKF94 0tA 323 500& = 25,0004 12,500




2N
X ZH -
L= B

el

0y T Olon
0y I
0N HT
>y

0R
0f
el

el A= (chel & 9l)

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

odgilgs 29 168,912
OVTM 92,9843 = 15001 = 128 167,372
O=2el3dE 7,700& = 20004 1,540

EFHAANE s & dLEE =4 2,505,999 1,865,955 640,044
18,918
Il 1,062,356

381,825
1,042,900

H

= M

A2l ALY 107,861 75,420 32,441
14,718
2,943
90,200

= Hn

101 1Al 32,361 0 32,361
14,718
2,943
14,700

= Hn

04 DIt 22 XS+ 32,361 0 32,361
= g JIZHI2ER(SOISE

19) 32,361
OerA| 26,221,000& 26,221
13,111

2,622
10,488

2,185

1,092
218
875

240

120
24
96
90

45
9
36

,925
26,621,000 = 3.43% 914

914,000& * 11.52% 106

26,621,000& = 4.5% 1,198
26,621,000& = 1.65% 440
26,621,000& = 1.00% 267
200,000& = 1F = 23 400
200

40
160

300,000& » 1¥ 300
150

>*
02

= N H

O& &= 2,185,000&

>*
02

= M W

Ou =l 240,000&

>*
02

= W

Onl=H| 90,000

*
02

= N H

O
~
o
H
oal
N
]
Bl
o
oy
N

|
c
oy

R 0 H

oy

[USINIL]

HT

0o

| |
W0
=R

0K

FO O

o

oo

|
> K
=

@)
02
i
oo
S|
=

=z N H

O
J
-
Hl
e
Im

H




SN BERAL
Ha: AYSH
Sel: OEHUNS RS Y ALY =4 9 EE)
= _ — d =
S - FE - EA(SH) - NRAY - BES e HlnE2
< 30
Al 120
201 ¢er24| 3,500 3,420 80
01 At 22l 3,500 3,420 80
os=2es 1,000& = 3,5000H 3,500
307 glz2+ol & 72,000 72,000 0
01 922724l 72,000 72,000 0
oYz AHZ &l A 72,000
OAE L ARE(ILM S 158)
20,000& = 3,600H 72,000
HE X KI 2 AR (THOFE) (M BHALR) 10,555 10,555 0
< 6,861
Al 3,694
201 Let24d] 2,800 2,600 200
< 1,820
Al 980
01 At 22l 2,800 2,000 800
oMt 222 1,000& = 2,800H 2,800
< 1,820
Al 980
307 izl & 7,755 7,755 0
< 5,041
Al 2,714
01 2224l 7,755 7,755 0
oOAT A« A2E 7,755,000 7,755
< 5,041
Al 2,714
AN LEET A=2H XA 420,106 240,000 180, 106
J| 210,053
< 63,015
Al 147,038
308 XXIEHH SOl A 420,106 240,000 180, 106
J| 210,053
< 63,015
Al 147,038
3 2SOHeE & X 2 E A I 420,106 240,000 180, 106
O35 HE &I 2=l 420,106,000 420,106
J| 210,053
< 63,015
Al 147,038
dasA 54,000 36,960 17,040
201 £B-2%H| 34,000 36,960 A 2,960
01 At 22l 34,000 36,960 A 2,960
OFMALEXNLEEH AIRA LUZE
3,500,000& = 63 21,000




SN BERAL
HE: AYSH
Sl 2HUANB 25 U AV T4 (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OFMAZ=FXHE Ol AHE S HI
7,000,000 = 10H A 7,000
OFMAZFXAE 2FE M|
6,000,000  1JH 4 6,000
401 Al HI R 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OFAUAULFXME O™ ZAHHI
20,000,000& * 1JH A 20,000
FAUTEAE 29 144,811 132,932 11,879
307 21201 A 144,811 132,932 11,879
10 AL SXNAIEEE2EHEX 144,811 132,932 11,879
OFATHE AL 2ZHl 144,811,000& * 1JH 2 144,811
FAAL=SXNHAH 2F(XHA) 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
05 RIZHRI &t 3 20,000 20,000 0
OXa0e - HAAHASE ALY 20,000,000& 20,000
FAAL=XNHEH 29 64,400 184,224 A 119,824
J| 32,200
< 12,880
Al 19,320
307 glz2tol & 64,400 184,224 A 119,824
J| 32,200
< 12,880
Al 19,320
05 RIZt2IE = 64,400 184,224 A 119,824
OFAMALEXNEEH 23
64,400,000& = 10024 64,400
J| 32,200
< 12,880
Al 19,320
FAAHL=RNEH s 508,816 254,268 254,548
J| 254,408
< 101,763
Al 152,645
307 glz2+ol & 508,816 254,268 254,548
J| 254,408
< 101,763
Al 152,645
05 RIZt2E = 508,816 254,268 254,548
OFHMAASNHE Ql2AstE
08,816,000& = 1JH A 508,816
J| 254,408
< 101,763
Al 152,645
SSEEN Mz 2e2H XA 38,000 25,000 13,000




2N
X ZH -
L= B

el

S=EEIPS
AL
ABHAUNE 75 Y AYHY X4

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
< 9,500
Al 28,500
307 glz2tol & 38,000 25,000 13,000
< 9,500
Al 28,500
05 RIZHRIEt 3 38,000 25,000 13,000
o=ss3ak Nzl XA
38,000,000& * 1JH=A 38,000
< 9,500
Al 28,500
AaRENd SsSMHeY Xzd XA 36,000 26,000 10,000
< 8,322
Al 27,678
307 glz2+ol & 36,000 26,000 10,000
< 8,322
Al 27,678
05 RIZIRIE 3 36,000 26,000 10,000
OIS SSHEX=H X
36,000,000& * 1JH2 36,000
< 8,322
Al 27,678
NS Ats! &M WERT #5 4,000 4,000 0
< 1,200
Al 2,800
307 glz2tol & 4,000 4,000 0
< 1,200
Al 2,800
05 RIZHRIEF 3 4,000 4,000 0
OXZ AR X0 WERD *=
4,000,000 » 1JH A 4,000
< 1,200
Al 2,800
FAUAL=EXNHEH S SMA HRHAE X2 16,800 14,400 2,400
< 5,040
Al 11,760
307 gl2tol & 16,800 14,400 2,400
< 5,040
Al 11,760
05 BIZHRIE 3 16,800 14,400 2,400
OFNAZ=FXNHE S SMA MRIHLHl X
16,800,000& * 1JH 2 16,800
< 5,040
Al 11,760
A a4l XNFAS 8,400 19,000 A 10,600
= 4,200
< 1,680
Al 2,520




2N
X ZH -
L= B

el

soB2AA
AYER
JAEHAHE RS

il

o
e

o
o

0y

FA
0x

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 8,400 19,000 A 10,600
= 4,200
& 1,680
Al 2,520
05 QIZ2tRE 2 8,400 19,000 A 10,600
OFNEE XESHl XNE A
8,400,000& = 1JH A 8,400
= 4,200
& 1,680
Al 2,520
HAALEXAE KA EAFY XI& 35,489 0 35,489
J| 17,745
== 7,097
Al 10,647
307 2Iz2to| & 35,489 0 35,489
J| 17,745
= 7,097
Al 10,647
05 QIZ2tREF 2 35,489 0 35,489
OFNAHLEXHE XA AIE X
35,489,000 * 1 35,489
J| 17,745
& 7,097
Al 10,647
SEHAMAHLS ALY 215,000 0 215,000
J| 107,500
== 43,000
Al 64,500
307 2Iz2t0| & 215,000 0 215,000
Jl 107,500
= 43,000
Al 64,500
05 QIZ2tREF 2 215,000 0 215,000
OSEHMNAHUSE AL
215,000,000& = 1JH 2 215,000
J| 107,500
= 43,000
Al 64,500
X0t b 2HAA 605,562 558,038 47,524
J| 438,130
= 21,907
Al 145,525
101 124 H| 4,951 0 4,951
Jl 3,961
= 198
Al 792
04 JI2ZtHIZ22NEES 4,951 0 4,951
OXIOH&2IAtE D12t 22 Xt 4,951




SN EERAL
M ALEZ
Sl 2HUANB 25 U AV T4 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ool 84,0403 * 1Y = 262 » 2& 4,371
| 3,497
< 175
Al 699
O4UEE JIa2E3 480,000& 480
| 384
< 19
Al 77
O=& 0l 100,000& 100
| 80
= 4
Al 16
201 et 391,586 387,038 4,548
| 303,289
< 15,165
Al 73,132
01 At 2teltl 297,386 305,998 28,612
OXIOHCHAMIEf OlAtHI S 10,450, 000& 10,450
OXIOHeHA HIEY 2tEF & HF 0™ AlS
2,024,000 2,024
O”gE oA = 1,372,000& » 1H » 12& 16,464
| 13,171
< 659
Al 2,634
O=3FA AMIZA EDM ¢
100,000 * 2A 200
| 160
< 8
Al 32
Ozlo & =& 1,400
OXNIMIIEAM 3o & =
100,000& = 23] » 5H 1,000
| 800
< 40
Al 160
OXMSS=AMG Mz A& =
100,000 * 4%H 400
| 320
< 16
Al 64
ou=l 90,000& » 21H 1,890
| 1,512
< 75
Al 303
ode=sI 22l 33,0003 = 3CH » 12& 1,188
| 950
< 48
Al 190
OFALEY =2 1,049,000 » 1H » 12& 12,588

J| 10,070




2N EEEAL
Bu: AYET
Sl 2HUANB 25 U AV T4 CEEEED
S - MBS (BH) - NRAY - BAS ol &k o8 ﬁlf& HD=2
=) 504
Al 2,014
ORXIDftAIME s € 22|
7,700,000& = 68 46,200
J| 36,960
== 1,848
Al 7,392
ORoEMIEH =2 111,000& ~ 6€ 666
J| 533
o= 26
Al 107
OXIHHAHEH AIES2E Y| 192,316
OXSs2He L ZIHIAY
38,316,000& 38,316
J| 30,653
== 1,533
Al 6,130
OXIOHCIAINSE & ol 22| ArY
50,000, 000& 50,000
J| 40,000
= 2,000
Al 8,000
OXl et ots &9 10,000, 000& 10,000
J| 8,000
o= 400
Al 1,600
OXHESAEE L IS XIAAS
10,000, 000& 10,000
Jl 8,000
& 400
Al 1,600
OXIDfetAEE 20 ¥ =2 84,000, 000& 84,000
J| 67,200
& 3,360
Al 13,440
OXIDHOHAHEH 22| 1,000,000& * 12& 12,000
J| 9,600
< 480
Al 1,920
02 E22%H| 44,200 31,040 13,160
OXItAIMEH REE 8522 37,160,000 37,160
J| 29,728
& 1,486
Al 5,946
OTV & QY 2= 45,000& = 12& 540
Dl 432
& 22
Al 86
OXINtAlME 2222 S
1,000,000& * 6& 6,000
Jl 4,800




2N EEEAL
Bu: AYET
CHelr ARHANE PE U AABY =4 (el @2)
S - MBS (BH) - NRAY - BAS ol &k o8 ﬁlf& HD=2
=] 240
Al 960
OZRIY HOX Y A 2HI
500,000 500
J| 400
== 20
Al 80
03 A2 HH| 50,000 50,000 0
onsg,Zz)x L HH 2H 30,000,000 30,000
J| 24,000
& 1,200
Al 4,800
OXIOHCHADIE 2¢Y 20,000, 000& 20,000
J| 16,000
== 800
Al 3,200
202 04t 25,200 25,200 0
J| 20,160
= 1,008
Al 4,032
01 2L Y| 25,200 25,200 0
OXMMER =& 0Hl 100,000 » 21H = 12& 25,200
J| 20,160
o= 1,008
Al 4,032
301 et M= 11,200 12,600 A 1,400
J| 8,960
== 448
Al 1,792
09 #HAIAHI XIS 2 10,000 12,000 A 2,000
Oouxs, Tz o HHC 2H S
8,000,000& 8,000
Jl 6,400
& 320
Al 1,280
OXIOHCHADIE &Y 2,000,000 2,000
J| 1,600
& 80
Al 320
12 JIEtE A= 1,200 600 600
oZzHA HEXAY
300,000& ~ 1Y = 48 1,200
J| 960
& 48
Al 192
307 gizto| A 127,200 133,200 A 6,000
J| 101,760
== 5,088
Al 20,352




2N EEEAL
Bu: AYET
CHelr ARHANE PE U AABY =4 (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 2=2L A=l 127,200 133,200 A 6,000
OXIHEx AMES XA
35,000& = 160 = 123 67,200
| 53,760
< 2,688
Al 10,752
QoUE Y =8 LA2E 30,000,000& 30,000
J| 24,000
= 1,200
Al 4,800
OXIHEIIAE HUAAH  150,000& * 200H 30,000
| 24,000
< 1,200
Al 4,800
INE=R:1= N ] 45,425 0 45,425
A&l 45,425 0 45,425
OXIOHeHAHEH W EH3AH 22,000,000 22,000
OXIHetaMEH 201 =22l ¥ 0ls&XYl
1,425,000 1,425
OXIDHetAMEH 228 ZAHl 22,000,000 22,000
XXz 2eldl (2HYl) K& (HMEAY) 121,463 121,463 0
< 78,951
Al 42,512
308 XX EHH SOl A 121,463 121,463 0
< 78,951
Al 42,512
11 I 2 SOCHEE & X 2 E A HI 121,463 121,463 0
OXIOHXI=22teldl 121,463,000& 121,463
= 78,951
Al 42,512
ool S2=A X3 2,900 2,025 875
| 2,320
< 116
Al 464
201 L2l 500 225 275
| 400
= 20
Al 80
01 At 2t 2l 500 225 275
oAt X HIE S 500,000& = 1H 500
J| 400
< 20
Al 80
301 LEAF 2,400 1,800 600
| 1,920
< 96
Al 384




2N
X ZH -
L= B

el

S=EEIPS
AL
ABHANE 75 Y ALHY

FA
0x

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
12243 2,400 1,800 600
oO33=Fd¢el 23X Al
300,000& = 1H » 83 2,400
| 1,920
< 96
Al 384
XN =sHEXA 81,836 79,376 2,460
< 15,550
Al 66,286
307 glz2tol & 81,836 79,376 2,460
< 15,550
Al 66,286
01 2=2L =4l 81,836 79,376 2,460
OXIOHEX SsSHEXH 81,836,000& 81,836
< 15,550
Al 66,286
XoHeIAfAXI 2 (XN MEZT208 29) 10,000 10,000 0
< 2,000
Al 8,000
201 LBt | 3,500 2,400 1,100
< 700
Al 2,800
01 At 22l 3,500 2,400 1,100
CoXME=Ez)d 222 £ WSAHE S
3,500,000& 3,500
< 700
Al 2,800
301 LPEXS 6,500 7,600 A 1,100
< 1,300
Al 5,200
09 HALAHIX &S 200 200 0
CoXME =28 23 200,000& 200
< 40
Al 160
12 JIEBHE 4= 6,300 7,400 A 1,100
©J14 X201 &=l 6,300,000& 6,300
< 1,260
Al 5,040
240 Otse HZAE 7S 1,540,724 1,164,622 376,102
= 137,237
| 64,170
< 894,219
Al 445,098
SUEAAS 9,500 10,830 A 1,330
201 L2l 9,500 10,830 A 1,330
01 At 2t 2l 9,500 10,830 A 1,330




SN EHBAL
HE: AYSH
2 240 0fs2 AZAS2E (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OZXNEHAY E2235 M= 2 7 9,500
OYUEXNSXHEXN 5 EE2XN ME
1,000& *= 28 * 1,000% 2,000
OZNEAMY 2225 7Y
2,500% * 33 * 1,0004 7,500
FAEME LASL oZH X 4,000 3,000 1,000
J| 2,000
< 1,000
Al 1,000
308 XXM SOIA 4,000 3,000 1,000
J| 2,000
< 1,000
Al 1,000
M 3I2SOoHstE & X 2 E A I 4,000 3,000 1,000
OFAELUE HAEL OZHIXA
4,000,000& 4,000
J| 2,000
< 1,000
Al 1,000
AFQDAMOF HZ 22 A XA (EBHAY) 911,232 603,400 307,832
< 637,862
Al 273,370
308 XXM SO A 911,232 603,400 307,832
< 637,862
Al 273,370
M3/ 2S00HetE & XS A I 911,232 603,400 307,832
OMB Ao AZ el Al X3 A
911,232,000& 911,232
< 637,862
Al 273,370
oz AT ot & LI 1,887 1,887 0
J| 1,510
< 113
Al 264
201 L4l 1,887 1,887 0
J| 1,510
= 113
Al 264
01 At 22l 1,887 1,887 0
OAE EZHI 1,887,000 1,887
J| 1,510
< 113
Al 264
IR0 AZHE 4,116 3,375 741
J| 3,293
= 247
Al 576




S EECLEEPS
Ha: ALSH
SRl DA OISO AAAE D

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 4,116 3,375 741
J| 3,293
< 247
Al 576
113/ 2SoHUHSZAEEALS I 4,116 3,375 741
OZ R0t F&H 4,116,000& 4,116
J| 3,293
= 247
Al 576
S0t L FLHAH XA 5,050 2,336 2,714
J| 4,040
< 303
Al 707
307 21201 A 5,050 2,336 2,714
J| 4,040
< 303
Al 707
01 922724l 5,050 2,336 2,714
OZFRO0F LS EH LT A 5,050,000& 5,050
J| 4,040
< 303
Al 707
SdEd HAIOI & B AH & &ot2tel 24,136 23,040 1,096
J| 12,068
< 6,034
Al 6,034
307 21201 A 24,136 23,040 1,096
J| 12,068
< 6,034
Al 6,034
01 2224l 24,136 23,040 1,096
O&EE A0l & Z A ¥ E0otateltl
24,136,000 24,136
J| 12,068
= 6,034
Al 6,034
3L HEIA E BFI XA 1,000 2,000 A 1,000
J| 500
< 250
Al 250
307 21201 A 1,000 2,000 A 1,000
| 500
< 250
Al 250
01 222l 1,000 2,000 A 1,000
OZ Al & 2&J| X2 1,000, 000& 1,000
J| 500




S EECLEEPS
Ha: ALSH
SRl DA OISO AAAE D

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 250
Al 250
Ol=sot & S&&&0la0H o= 39,000 40,960 A 1,960
J| 19,500
< 9,750
Al 9,750
307 glz2tol & 39,000 40,960 A 1,960
J| 19,500
< 9,750
Al 9,750
01 2222l 39,000 40,960 A 1,960
O0l=0t & d&d L0140t 2=H|
39,000,000& 39,000
J| 19,500
= 9,750
Al 9,750
SUEAAMY EXQEH| 14,800 15,733 A 933
J| 7,400
< 3,700
Al 3,700
101 14 Hl 14,800 15,733 A 933
J| 7,400
< 3,700
Al 3,700
04 JIZHHZ2XREES 14,800 15,733 A 933
OZXNEAHAY B=xlaEy| 14,800
(@)iRal:] 84,0408 * 1H * 262 ~ 63 13,111
J| 6,556
< 3,278
Al 3,277
C4i2Egz JI1&#2<3 1,689,000& 1,689
J| 844
< 422
Al 423
EEIANEAH+F 1,718 1,718 0
J| 859
< 429
Al 430
308 XXM SOIA 1,718 1,718 0
J| 859
< 429
Al 430
M3 2SoHetE & XS A I 1,718 1,718 0
OEEZNEHTE 1,718,000 1,718
J| 859
< 429
Al 430
ARSI (HEAY) 212,550 206,400 6,150




FAM SEEAL
g AHsd
el 240 oS AT AEPE

SN ZH-S(SA) - HRAY

ESS

0l &t o

=

i
2m

H

Al

159,412
53,138

307 21201 &

in

Al

212,550

169,412
53,138

206,400

6,150

Sl
=
>
==
>
40

212,550,000&

t

Al

212,550
212,550

159,412
53,138

206,400

6,150

11,260

16,443

A5,183

900

903

A3

2,000& = 45004

900
900

903

A3

10,360

15,540

A5,180

f geEx4 X

1,036,000& = 10

10,360

10,360

15,540

A5,180

Yare o g X

y

t

Al

26,000
13,000
6,500
6,500

26,000

307 glztol &

J|

H

Al

26,000
13,000
6,500
6,500

26,000

2
10
HU
He
4
fu

a
o ozl K&

©
kJ
4
o

26,000,000&

= H

26,000
26,000

13,000
6,500
6,500

26,000

HAEE JIMAH ZME2R NEAMY

= MW

274,475
137,237
68,619
68,619

207,500

66,975

308 NHXIEHMS0IE

= MW

274,475
137,237
68,619
68,619

207,500

66,975

sl
Y

274,475,000&

= N W

274,475

274,475
137,237
68,619
68,619

207,500

66,975

lo
2
1=
o

22,070
2,700

53,610

A 31,540




SN BHBAL
Bu: AYET
SH9l: olorp e
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
= 7,250
Al 18,120
229z 12,420 7,203
201 LB-2d| 11,940 6,703
01 At 2t 2l 10,890 5,653
OtHAM= HENSH 29 5,850
OdHAM= Ws 2/E3  500& * 2,500 1,250
OdHAM=s g S22 2,000& * 95004 1,900
ONSE JH A2E(ME S)
90,000& = 304 2,700
OHIUY dHAMsE SSHI B 23 5,040
OuW=g &l (CPR LOON) 21,0002 * 24004 5,040
03 A2 Z Hl 1,050 1,050
OM4sl H=Al 4G AHAME ZHUS 1,050
Od A= 200,000&  3H 600
ObH U X2 50,000& = 1K 50
Oo3olal OHLI CHO4 200,000& = 2CH 400
301 LP B 480 500 A20
09 HALAHIX RS 480 500 A 20
OHM4sl H==Al 4G dHAMs Z2HUE 480
(@) ni3=:] 8,000& » 60H 480
oINS NEHY 2,450 2,407 43
201 Let24d] 2,450 2,407 43
01 At 22l 2,450 2,407 43
OQAMIHICLS E AL EE22 950 » 2,0000H 1,900
O3BANE=E AEEH = 550,000& 550
B MESHEE 2E XA 2,000 2,000 0
| 1,400
< 600
307 21201 A 2,000 2,000 0
| 1,400
< 600
01 2L =l 2,000 2,000 0
o2=22dAZ2ANE 2,000,000& * 1M E 2,000
| 1,400
< 600
AsaEEs2A)| ESXE 2,600 15,000 212,400
J| 1,300
< 650
Al 650
405 XHobF S HI 2,600 15,000 212,400
J| 1,300
< 650




2N
X ZH -
L= B

el

ve

1oy ofon
NN Shin
ol HT

oAy

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 650
01 AL EZFH S 2,600 15,000 A 12,400
oltsaEEAI 2,600,000& = 1CH 2,600
J| 1,300
< 650
Al 650
22 HsSdESZHI WA 2,600 27,000 A 24,400
405 TtHabH S| 2,600 27,000 A 24,400
01 AL EFH S 2,600 27,000 A 24,400
oOsaEFEAI 2,600,000& = 1CH 2,600
YA (SH2AL) 2,363,246 2,178,839 184,407
= 57,582
J| 415,370
< 56,811
Al 1,833,483
ol 2d | 2,124,394 1,983,963 140,431
= 57,582
J| 415,370
< 56,811
Al 1,594,631
ol Al 1,129,411 1,232,656 A~ 103,245
101 @124l 1,129,411 1,232,656 A 103,245
01 2= 283,876 226,361 57,515
O eHA 283,876
Oxn2RaY
10,9523 = 72H = 30AI2t = 128 283,876
02 JIEt& B == 102,329 79,231 23,098
OLBAIM 3,412
OxzH2Zf=E
14,2153 = 1% » 20A12t = 128 3,412
oOHEZE 3,962
OxuU=228 3,962
-3 4 11,9253 = 1% = 15A12t = 128 2,147
-3 10,083& = 1% = 15A12t = 12& 1,815
OB E2AHSAM 94,955
OfIgz2fs+% 40,0002 * 6 * 123 2,880
Od=zgsdd= 86,400
-2t 1,350,000& * 4% * 123 64,800
-8t bt X| Bt 900,000& = 2H » 123 21,600
Ogzgde=+% 50,000& = 4% =128 2,400
Ooxu=228 3,275
—CH < 13,1543 » 3H » 4A2H « 128 1,895
-=9 9,579% * 39 x 4AI2F « 128 1,380




SN BHBAL
HM: HY2HAH(EEE2AHAL)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
03 2LE(RIH) 22 XHE L 743,206 927,064 A\ 183,858
(OF=E=EN 743,206
OJles(gerz2a ) 303,578
-85 =2 3,624,980& » 1H * 128 43,500
2188 3,261,740 * 29 = 128 78,282
-7s 2 2,478,250& * 2% * 128 59,478
-45 3 2,310,670 * 1¥ = 128 27,729
2t (I3 155 2)
2,925,850& * 1H = 128 35,111
-S3IAZAMNOIETEE)
2,478,250 * 29 * 12& 59,478
OIESY 19,920
-bif < X+ 40,000 = 18¥ = 12& 8,640
-== 20,000 = 5% = 128 1,200
oy (PIE| 20,000 = 11 « 12€ 2,640
-= M Xy 60,000& » 78 x 12& 5,040
oW (PIE] 100,000€ = 29 = 128 2,400
254 1,048,309,000& * 5% 52,416
O&ea 50,000 = 33% * 12& 19,800
ORExY 30,000& = 33 * 12& 11,880
o424
8,000 * 33¥ * 52 * 12& 15,840
Ox=m=2Rx
18,580& * 33H * 15A12F = 12& 110,366
OFHZAH| 140,000 = 33Y = 128 55,440
OY &=t 87,835,400& * 50% * 23| 87,836
OdILE A 99,105& = 33% * 20¥ 65,410
OB =1 (2SS A) 40,000& * 18Y 720
FA0IA 188,407 0 188,407
303 ZAZ 26,400 0 26,400
02 A= 26,400 0 26,400
OZTLH(RIIAY)2E2R S0
800,000& * 33H 26,400
304 HA=22H=2S 162,007 0 162,007
01 =82eg=2 66,425 0 66,425
O22LZ (I HA)22 L 2042 J|2242
1,476,104,850& * 4.5% 66,425
02 20AHUESH= 56,464 0 56,464
OB2LX(LIIHZ 2 2UALEE J|IALE
== 56,464
OH2LES 1,476,104,850& * 3.43% 50,631
O&IAEE 50,631,000& * 11.52% 5,833
04 ZEX(RI|HY)22 N2 EH2S 39,118 0 39,118




SN EERAL
MY #FSAAY (EUBAL)
el el 2| (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
FEEEIES P =
1,476,104,8502 * 1.65% 24,356
OBRDE(2IIHA)2Z2X MANHLEE S
1,476,104,8502 * 1.00% 14,762
ANZZESHUSEAS (EX) 72,360 71,360 1,000
| 36,180
Al 36,180
101 @14 dl 70,312 69,312 1,000
J| 35,156
Al 35,156
02 JIEt A 2+ 33,611 29,311 4,300
OAZEEHYIH SRE J=22
1,886,830& » 1H » 128 22,642
| 11,321
Al 11,321
OAZHEEHYIH SS& SUadd3
3,364,000& » 1H 3,364
| 1,682
Al 1,682
OP =R = 1,680
Ot <Xt 40,000& * 1 = 128 480
| 240
Al 240
O&Hl= 20,000& = 198 » 128 240
| 120
Al 120
OFMAH 20,0004 = 18 » 123 240
| 120
Al 120
O=M A4 60,000& = 1¥ » 12& 720
| 360
Al 360
OAZA2RY
8,887& * 1™ » 20AI12F = 123 2,133
| 1,066
Al 1,067
OEx=ARxH 90,5603 * 18 » 123 1,087
| 544
Al 543
OFUZ A 140,000& = 1H = 12& 1,680
| 840
Al 840
O It 4| 6,490 * 1H = 77AI2 500
J| 250
Al 250
ofIgz2®+¢ 43,750 * 18 « 128 525
| 263
Al 262
03 SR (RIAHL)2Z2XNE > 36,701 40,001 A 3,300




SN BEEAL
MY #FSAAY (EUBAL)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZHHG2tS Al 36,701
Ol | 36,701,000& * 1H 36,701
| 18,350
Al 18,351
204 AR HH| 2,048 2,048 0
J| 1,024
Al 1,024
02 22 2l 1,523 1,523 0
OAZIEEH LD M (92 A4 L)
145,000% * 1Y = 35/40A12t = 12& 1,523
| 761
Al 762
03 EZ YA 525 525 0
OAZEHEH LI H CHEl & SHI
50,0003 * 1 = 35/40AI2F = 12& 525
| 263
Al 262
XOHotAIMIEH 2HRE(EX) 232,212 219,187 13,025
| 185,770
< 9,288
Al 37,154
101 @14 Hl 217,879 204,854 13,025
J| 174,303
< 8,715
Al 34,861
02 JIEH A 2+ 217,879 204,854 13,025
OAZEEHAIH SSE Jl=22
1,866,370& » 7H » 128 156,776
| 125,421
S 6,271
Al 25,084
OB (7Y) 17,666,000 17,666
| 14,133
= 707
Al 2,826
o= 28,216
S 5,760
—bH < Xt 40,000& * 5% = 128 2,400
| 1,920
< 96
Al 384
ol DNIE 20,0003 = 29 » 12& 480
| 384
< 19
Al 77
1 PNIE 60,000& * 2% * 12& 1,440
| 1,152
S 57




2N EEEAL
MY #FSAAY (EUBAL)
& o 2d| (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 231
AU AHA 100,000& * 1H =123 1,200
| 960
< 48
Al 192
-=Hl= 20,0004 = 1H ~ 123 240
| 192
< 10
Al 38
OANZ2ZRE
8,887& * 7H * 20AI2t = 128 14,931
| 11,944
< 598
Al 2,389
OS+x2ag 89,580% * 798 * 128 7,525
| 6,020
< 301
Al 1,204
O It 4| 6,4203 * 7H = 7T7AI2t 3,461
| 2,769
= 138
Al 554
OZFMHZ A 140,000& = 79H = 12& 11,760
| 9,408
= 470
Al 1,882
204 HR=HAH| 14,333 14,333 0
| 11,467
= 573
Al 2,293
02 A2l 10,658 10,658 0
OAZFEEHAIIN (92 & L)
145,000% * 7% = 35/40A12F + 12& 10,658
J| 8,527
< 426
Al 1,705
03 EZ YA 3,675 3,675 0
OAZTEHEI T LI M CHEl & SHI
50,000 = 7H * 35/40A12t = 12& 3,675
J| 2,940
< 147
Al 588
KNAAMNE SESHLSIAML(EX) 236,340 189, 120 47,220
| 118,170
= 23,634
Al 94,536
101 1A bl 236,340 189, 120 47,220
| 118,170
< 23,634
Al 94,536




SN EERAL
MY #FSAAY (EUBAL)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 B2 (RIHY)22NE S 236,340 189,120 47,220
OSEHLSIAMNY 20 236,340
OF20l2t oAy
2,050,000& * 8H » 123 196,800
p 98,400
< 19,680
Al 78,720
OXEoY oA (AE2EE olgtael)
2,050,000& * 1€ * 103 20,500
J| 10,250
< 2,050
Al 8,200
OXSH IAY (F)
2,050,000 = 199 » 53 10,250
J| 5,125
< 1,025
Al 4,100
O 203 QI24H (2 X)
2,050,000& = 1H » 33 6,150
J| 3,075
< 615
Al 2,460
Odzod st 240,000& = 114H 2,640
J| 1,320
= 264
Al 1,056
MM ES ST A(SE) 123,720 102, 120 21,600
J| 61,860
< 12,372
Al 49,488
101 @14 Hl 123,720 102,120 21,600
J| 61,860
< 12,372
Al 49,488
03 B2 (RIHY)22NHE S 123,720 102,120 21,600
OSHAEA & SHAMAH 123,720
Oeol2dl(5Y) 2,050,000& » 5&H » 12& 123,000
J| 61,500
= 12,300
Al 49,200
O&dzod W= 240,000& » 3H 720
J| 360
< 72
Al 288
SIS EE S5 2AHI(BX) 26,780 26,780 0
J| 13,390
Al 13,390
101 1A dl 26,780 26,780 0
J| 13,390




2N
X ZH -
L= B

el

re o2 olon
J¥ 0 IR
M0 MO HI

02 02 1Y
oY b
=S
0l0n
i
T
e
B>

=5

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 13,390
03 3R (RINHY)22NHES 26,780 26,780 0
ONYTESSHESY 2500
26,780,000& » 1H 26,780
| 13,390
Al 13,390
HEHABAMY (EX) 115,164 142,740 A27,576
= 57,582
= 11,517
Al 46,065
101 @14 Hl 115,164 142,740 N27,576
= 57,582
S 11,517
Al 46,065
03 BRI (RINHY)22HES 115,164 142,740 N27,576
ogzHze M2z (5%) 113,964
OgzHzze Fed oAl
22,792,800& = 5H 113,964
= 56,982
< 11,397
Al 45,585
Od=Zold W=l 240,000& = 59H 1,200
= 600
< 120
Al 480
|23 bl 238,852 194,876 43,976
Jl23Hl 238,852 194,876 43,976
201 Yete | 112,502 97,012 15,580
01 At 22l 92,952 78,984 13,968
OJl2gRHES=ZH(JIEZH])
450,000& = 794 35,550
O=&HI(J1E&Hl)
8,000& = 819 = 7¢ » 123 54,432
OZ22RZ(RJIAHA)22 X HI=2H
90,000& = 33H 2,970
02 3323l 19,640 18,028 1,612
oORERS 19,640
Ogegt 4003 * 1,800 = 123 8,640
Ol 2,500 * 2208 « 12& 6,600
OXRHE(LAEESF) 550& 8,000 4,400
202 odl 112,000 84,864 27,136
01 = LH o4 1l 78,400 44,064 34,336
©J1= 3l 20,0003 = 659 = 5 « 12& 78,000
OZRF(RIAHA)Z 2R 2ASEH0HI
40,000& = 103 400




SN EHEAL
Hu: HZSYAH(EHRAL)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 8 % 01 33,600 40,800 A7,200
oootees Mo £
200,0009 * 4% « 12 9,600
OSENY wE22A £
200,000%! * 108 + 122 24,000
203 &R = bl 14,260 13,000 1,260
02 HRAtM AR E T Y| 4,420 4,000 420
OB RE Y| 4,420
01002 0I5t 40,0002 * 100% 4,000
010021 %3t 30,0008 * 14 420
04 RA 2GR =T 9,840 9,000 840
SN2 FTY| 9.840
oA 9,840
-3001 0l 400,008 * 122 4,800

¢}
30 =1t 5,000 = 8498 « 128 5,040




A & 0l & AF 2 E A A
20229 &= = 0lat LB &
SN HEEAA
HE: AYSH
Chelt BRAC B AIMIIYRE CERED
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FARAL 15,010,342 11,116,693 3,893,649
= 2,044,595
J| 3,553,659
= 2,603,322
Al 6,808,766
FalRig==Fs| 12,990,795 9,214,233 3,776,562
= 1,972,295
J| 3,160,709
< 2,544,280
Al 5,313,511
BAAZ ANEI|IB2H 876,570 939,504 A62,934
= 28,800
< 16,937
Al 830,833
M2 MHIA 25 130,163 130,482 A 319
101 @124l 109,947 109,795 152
04 JI2ZtHZ22HEE = 109,947 109,795 152
© 2l Al 109,947
ool 290,000& » 1% = 262 = 12& 90,480
C42EII 223 9,977
=03 90,880,000& * 4.50% 4,090
-A2=2E 90,880,000& * 3.43% 3,118
-2} eeL2E 3,118,000& * 11.52% 360
-1EEE 90,880,000& * 1.65% 1,500
“MTHEE 90,880,000& * 1.00% 909
OZ & Ftyl 200,000 » 1¥H « 23] 400
O=XNEQUE 300,000& = 1& ~ 13/ 300
O& &= 290,000 * 30 8,700
o1l =l 90,000& » 1H 90
201 Yet2 | 3,816 3,447 369
01 At 22/l 3,816 3,447 369
OQUIANA Ol 276
Ol & 70& * 1,900% 133
ONsXHSAMEAM 100& » 950% 95
OXtsXHHE A A 503 * 950% 48
OMEIINE FH=s=E 38,0003 * 123 456
OXZ e 2ALE MHlA 7,400¥ * 128 89
osclizy, eteta 24 475
ONE=2HM2E MM E 95,000& = 33| 285
OHEMEHI 190,000& * 13| 190
o=t 2,220
OS2I At 90,000& = 69H 540
O ¢ AZRA 90,000& * 164 1,440




2N
X ZH -
L= B

el

HAPAL
AYER
BAORAEINYRE

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OxAZ & 120,000 » 1H x 23] 240
ONMUZ2E2S ==l 100,000& * 3Y 300
202 (4] 6,000 6,840 A 840
01 2L Y] 6,000 6,840 A 840
O3EAH2AA I EZHI
20,000 » 5 x 52 * 12& 6,000
203 € R =&Y| 3,000 3,000 0
03 A=A SR =AH| 3,000 3,000 0
OBAHAMY HRE=X 3,000,000& 3,000
307 QI2t0| & 7,400 7,400 0
01 2L ZH| 7,400 7,400 0
oOflga 29 3,200
OB5MI0 & =0l & X 2HHl XI&
1,000& = 2,0009 2,000
O% = 600,000& 600
OLx2E 600,000& 600
ostgtdlgd 29 3,000
O%= 2,200,000& 2,200
oAr2E 800,000& 800
O=2clXsa 29 1,200
Oo%= 840,000& 840
oArRE 360,000& 360
BAHA2Y 357,454 345,019 12,435
101 @124l 62,649 88,268 N25,619
04 JI2ZtH2Z2XNHEE =+ 62,649 88,268 N25,619
OFUAY IAA 32,458
Ol 2| 84,0403 » 14 = 26 * 12& 26,221
O4HEE J|&a8g2 2,925
-=0H=3 26,621,000& * 4.50% 1,198
-AHAEE 26,621,000& * 3.43% 914
~&AIRYEE 914,000& * 11.52% 106
-82E 26,621,000& * 1.65% 440
-AMWEE 26,621,000& * 1.00% 267
Og &=yl 200,000& = 1H = 23| 400
OsX=EQE 300,000& * 1 300
O&E &3 84,040& = 30 2,522
o1l = bl 90,000& = 13 90
OFANZE HAQIA(EEZR) 30,191
Ool2it] 81,340& » 1Y = 26 * 128 25,379
O4HEE J|&282=2 1,671
-AHAEE 25,779,000& * 3.43% 885




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
B3I LEE 885,000& = 11.52% 102
-IEEE 25,779,000& * 1.65% 426
“MHEH 25,779,000& * 1.00% 258

OFE =S tHl 200,000& = 1H « 23| 400
O=XEAE 300,000& » 1H 300
O&l &= 81,3403  30¢ 2,441
201 Let24d] 264,805 250,251 14,554
01 At 22l 78,343 79,560 A1,217

OQAANRE ZEHEH 4,050
oA 2,580
- et 210,000& = 2& * 33l 1,260
-—Sggs0l 330,000& * 48 = 13l 1,320
Odlza 210,000& = 15 * 33l 630
Ooletate| 215 ot 210,000& * 45 =13 840
OQJANRE SAEX 525
oglaa 21,000& » 15 A 315
odzd 21,0003 » 5% A 105
Ogjeretel 216t 21,0002 » 5¥+A 105
OsZTIHIES 5,355
OZgM=F 2,170& = 300# = 123 782
OMEE=S 28,600 * 22tA * 128 687
Ost&EX 35,7003 = 3=A « 128 1,286
ON&E28 &2 S 100,000& * 263 2,600
O&EANZE HEAES 150,000& * 33l 450
ode=I 22yl 5,796
OEAA 28,0003 = eli » 123 2,016
(O=FaPNE~ 28,000 = 3MHA + 128 1,008
(O FSE=F 33,000& * 74+ 128 2,772
O3J18&FJ| 2eldl 43,0003 » 1404 » 128 7,224
OARZEINB0 Ut === 53,343
OfRoZHEY 13,470
-Baa(=2a) 154,000 = 1A « 128 1,848

~B2AA(XIONCHAIHIE)
33,000& * 1A + 128 396
22X A 110,000& = 3L » 12 3,960
= R R = 86,500 * 7oA * 128 7,266

OsZIIEIEMN ==
95,000& = 13| » 204 190

OsZJigdae g2

135,000& = 204 = 12& 3,240
QEI|etd e a2 9,216
B4 570,000 = 1A = 128 6,840




SN BRBAL
Bu: AYEH
©e: B AL RS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=R DNEN 99,000& * 204 * 128 2,376
OALZAE 3 HdH =2 4,200
“EAHA(XIOHAMEH, AT AMHLHEH
ZE) 350,000& * 1JH4 + 12& 4,200
O4wotEB X DES=Y
200,000& = 19H 200
Ost+MAE ReUsscR 6.264
-ES AN HERATE L
174,000& » 3M A « 128 6,264
OLNGAFE Al JNEA =2
53,0008 * 18l 53
OBHHMEY HALA 242
440,000& * 53 2,200
OHJIZ2 Hel =2 14,310
-ZSHHJI2 Hel 9,360
- BAA 450,000& * 1A » 123 5,400
SAR 33,000& * 3HA + 128 1,188
A=A 33,0008 « 7L + 123 2,772
-H =X el 825% = 5004 * 1A + 128 4,950
OEE88 HMel ==& 1,000,000& * 13l 1,000
O=E8& Z23E8J ==8
300,000& * 204 * 13 600
02 2324l 186,462 170,691 15,771
OF A E R X 19,379
O824 (1040l5t) 2,420 = 4,922m 11,912
OEAX A 3,195
-1040IGH(LH==,=0l) 2,420 » 741m’ 1,794
-30H 0l ot (2 &) 4,898 = 286 1,401
OogddE A 4,272
-10E0lot(=al) 2,420 = 187m’ 453
15 0I5k (o, A d) 3,151& » 336m’ 1,059
-209 0l GH(F &, Ot ) 3,767&  366M 1,379
254 0lGH(Eel, 22 &) 4,288% » 322m 1,381
02223 % HA 57,024
Oo&IIe3 2,700,000& = 12& 32,400
Mot 500,000& = 12& 6,000
(OP) FS 4=, 1,500,000& * 12& 18,000
ORrdgsd & 30,000& = 12& 360
Oy ICHZI 23 22,000& = 123 264
OEd=z & 6,500
OXNEEEE & USXHA 450,0008 = 1404 6,300
OMSAMETT HAMAES
170,000& * 13l 170
OJAAMDH A MAEBE 30,000& = 13l 30




2N
X ZH -
L= B

el

HT Y ok

ALAL
e
NP

S B G(SA) - NRANY - BES il 2
OX =Xt 63,800
OZx 2,700,000& =« 4CH 10,800
Os&x 4,900,000 =+ 4CH 19,600
Osg Xt 6,500,000& =+ 4CH 26,000
Ozt xt 4,300,000& * 1CH 4,300
O+=x 3,100,000& = 1CH 3,100
OAZHI (S22 ZAH) 889& * 500/ =+ 3 1,334
OM=Za2ldl 2,080
OMd=x E& 990,000& = 23| 1,980
OM=Zx =ZAMs=E 100,000& * 1%l 100
OA&&EHl SXdl 28,945
OdeeIl KX E =4 14,285
=D A AL(GHP) & e D) 1,815,000& = 7CH 12,705
-HEHAH 18,150& * 87CH 1,580
O82dA CCTV FXAE==Hl 605,000& » 128 7,260
O3 A& |XEH| 3,000,000 3,000
OAEEH |RXNE=H  400,000& » 11002 4,400
Oz &HHl sl 6,000,000& 6,000
OussLRg=s 1,400,000& 1,400
401 AIEHI L 20 30,000 0 30,000
01 A€ HI 30,000 0 30,000
OBM =X &M & FUHAE BHLEES
12,000,000& 12,000
Ot Il A2 (GHP) AX WH S At
18,000, 000& 18,000
BAXNA2E 132,060 133,048 A 088
201 et 29,460 29,448 12
01 At 22l 3,660 3,648 12
oMNEEES s ¥ 190,000& * 34 = 23] 1,140
OZEHEUW 210,000 * 28 » 3 « 23] 2,520
02 =224l 25,800 25,800 0
O0z3E2= & HMHA 25,800
o&IIe3 1,000,000& » 204 « 123 24,000
Odot=e= 30,000& = 30HA + 128 1,080
ORedYgsEsE 20,0003 = 30HA + 128 720
307 glz2tol & 102,600 102,600 0
01 22272l 102,600 102,600 0
ou= 1,300
OLS (Lo, sHet) 1,000,000& 1,000
OAZZF(Lpt, stet) 300,000& 300
0% 1,300
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SN HABAL
B AYEA
SR BEAAZ AL F )
SA - ZE-B(EA) - NRAY - B S il 2
e 8,000,000& 8,000
-ABE 1,000, 000& 1,000
(OFSFS 12,000
Ooggrd = 12,000
-5 11,000, 000& 11,000
-ABE 1,000,000 1,000
O Zot 14,000
ogetd =z 14,000
%3 13,000, 000& 13,000
-AR2E 1,000,000& 1,000
OFst 8,000
ogetd =z 8,000
%S 7,000,000 7,000
-AR2E 1,000, 000& 1,000
o= 28,000
ogeta =z 28,000
-3 27,000,000 27,000
-ABE 1,000, 000& 1,000
405 XHoHF S HI 5,780 4,600 1,180
01 AL EFHS 5,780 4,600 1,180
OHE I (IHH 1,900,000 * 1CH 1,900
OAEHB2E 580,000& = 1CH 580
O MR E Xt 300,000& =« 1CH 300
OZMAIEDI 2HE)
1,000,000& * 100 * 2042 2,000
ORI JZEER Ol XH(F& Eel)
00,000& * THIE = 204 1,000
iz dgERF B+ 1S 1,680 1,680 0
< 504
Al 1,176
201 L2l 1,680 1,680 0
< 504
Al 1,176
01 At 2t 2l 1,680 1,680 0
E0sH| 240,000& = 7H 1,680
3 504
Al 1,176
BAHARZ A B2XoE KA 37,913 36,103 1,810
< 9,233
Al 28,680
101 @124l 37,913 36,103 1,810
= 9,233
Al 28,680




SA: HASAL
=

X{ XH -
S =

=
i

2

36,933,000

36,933,000& * 1.65%
36,933,000& = 1.00%

H

Al

37,913

36,933

9,233
27,700
980

610
370

36,103

= W

50,200
28,800

7,200
14,200

127,301

ATT7,101

405 KHabH S|

Z W

50,200
28,800

7,200
14,200

127,301

ATT7,101

47,500,000 = 1CH

2,700,000& * 1CH

= W

= N H

50,200

47,500
27,000
6,750
13,750
2,700
1,800
450
450

127,301

ATT7,101

H

Al

812,570
303,393
200,798
308,379

885,457

AT2,887

Hhn X

Al

190,012
95,006
28,502
66,504

239,700

N 49,688

308 At

ﬂ
o
>
Bl

4l S 0l

J|

N

Al

190,012
95,006
28,502
66,504

239,700

N 49,688

© o
oY
™
[=s

S|
il
on
==
o
ro
oy
0z
A
40

At Bl
190,012,000&

Il

H

Al

190,012
190,012

95,006
28,502
66,504

239,700

AN49,688

)l
il
=)
4>
il
i
b=
Y
0y

Jl

= M

18,400
14,720
1,104
2,576

20,000

A 1,600

308 MHXIEHMSOIH

Il

18,400
14,720

20,000

A 1,600




SA: HASAL
=
o

MY AYEX
ool MEE ALK CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 1,104
Al 2,576

11 2 2SHUSHEAXERAEASH] 18,400 20,000 A 1,600
o & &yl 18,400,000& 18,400
J| 14,720
= 1,104
Al 2,576

St X OS2 H|I KR (HEALY) 214,620 214,620 0
=} 139,503
Al 75,117

307 QI2t0| ™ 214,620 214,620 0
=} 139,503
Al 75,117

o1 o= 214,620 214,620 0
o2& o 2H| K& 214,620,000 214,620
& 139,503
Al 75,117

KNS AS 242 = AL 68,480 68,478 2
J| 34,240
Al 34,240

202 o4 | 500 500 0
J| 250
Al 250

01 =2LHOHI 500 500 0
OXE AT AL XA OH| 500,000 500
J| 250
Al 250

307 QI2t0| ™ 67,980 67,978 2
J| 33,990
Al 33,990

05 QIZtREZ 67,980 67,978 2
O X = AS HZ = A 67,980,000 67,980
J| 33,990
Al 33,990

KNEAS SEHLSEAY 191,591 192,936 N 1,345
J| 95,796
o= 19,159
Al 76,636

201 gBt2Ad| 56,491 54,576 1,915
J| 28,246
= 5,649
Al 22,596

01 AP 2t 2| H| 38,491 37,476 1,015
OAHLME AN ALY 20,991,000 20,991
J| 10,496
& 2,099
Al 8,396




2N

Bu: AYEH
Sl B A LRI (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORLEBAHAL 8,000,000& 8,000
J| 4,000
< 800
Al 3,200
odzigaaa HE2elA 9,000,000& 9,000
J| 4,500
< 900
Al 3,600
OXI AR S THE ALY 500,000& 500
J| 250
= 50
Al 200
03 &AL Z I 18,000 17,100 900
OHZHEAH ALY 8,000,000& 8,000
J| 4,000
< 800
Al 3,200
ORXNEAHAL 8,000,000& 8,000
J| 4,000
< 800
Al 3,200
OIFA S AN 2,000,000& 2,000
J| 1,000
< 200
Al 800
301 LEEAZ 5,600 2,000 3,600
J| 2,800
< 560
Al 2,240
12 JIEBHE4 3 5,600 2,000 3,600
OAENH Al&S 5,600,000& 5,600
J| 2,800
< 560
Al 2,240
307 21201 A 129,500 136,360 A 6,860
J| 64,750
< 12,950
Al 51,800
01 92724l 129,500 136,360 A 6,860
OFLEHANY ABZ 4,000,000& 4,000
J| 2,000
< 400
Al 1,600
ONHZMEBAMMAIY A2 1,000, 000& 1,000
J| 500
= 100
Al 400
odzgaaE He2elAty =
6,000,000 6,000




2N

Hu: ALEA
Rl dEs 24X Chel i &)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Jl 3,000
= 600
Al 2,400
OYMF oM & E2H 15,000,000 15,000
Jl 7,500
S 1,500
Al 6,000
OZASHAMNY EFAE
75,0008 = 115& * 123 103,500
Jl 51,750
S 10,350
Al 41,400
NSA2 S SHAEAMEIA 127,507 144,823 A17,316
Jl 62,651
S 12,530
Al 52,326
101 21248l 25,115 22,676 2,439
p] 11,455
== 2,291
Al 11,369
04 D12 H22 TS 2=+ 25,115 22,676 2,439
ozdaga(1g) 25,115
Oel 2t 84,0408 = 18 = 262 » 93 19,666
Jl 9,833
S 1,967
Al 7,866
OEZEF It 200,000& » 1€ = 23 400
Il 200
T 40
Al 160
O& &3 2,604,0008 » 1 2,604
Jl 1,302
£ 260
Al 1,042
OsgAMg 208 WSH|
240,000& = 1& 240
Jl 120
S 24
Al 96
O4UEs8 JI28Y= 2,205
-=0d= 20,066,000& * 4.50% 903
-AL2E 20,066,000& * 3.43% 689
-l 689,000& * 11.52% 80
-IE2E 20,066,000& * 1.65% 332
—MTHEE 20,066,000& * 1.00% 201
201 fEt2E | 58,792 69,547 A 10,755
Il 29,396
= 5,879




SA: HASAL
=
o

HH: ALEZ
Sl MEs A2 XII) (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 23,517
01 AP 22| d| 56,842 68,097 A 11,255
O=sE=E ¢ Wiz 16,842,000& 16,842
Jl 8,421
o= 1,684
Al 6,737
oz2¢2celY =29 10,000, 000& 10,000
J| 5,000
& 1,000
Al 4,000
o=2dsAaAxXH 20,000,000 20,000
J| 10,000
= 2,000
Al 8,000
o2& Z2X JIEE 50,0008 = 20074 10,000
J| 5,000
& 1,000
Al 4,000
02 Z2=2=24%4| 450 450 0
OZ2HXNEH MdlEE 150,000& = 39 450
J| 225
& 45
Al 180
03 HAI2 G H| 1,500 1,000 500
O2 s T2 )2 2 A 50,000& * 303 1,500
J| 750
& 150
Al 600
301 et A =2 13,600 12,600 1,000
J| 6,800
& 1,360
Al 5,440
12 JIEtE A= 13,600 12,600 1,000
ZHIER A 4LE 50,0008 * 3¥ » 84Y 12,600
J| 6,300
== 1,260
Al 5,040
ONMASAHAY ZHHQ A2UEAH Al&Z
5,000& * 200 1,000
J| 500
= 100
Al 400
307 2I2t0| & 30,000 40,000 A 10,000
J| 15,000
o 3,000
Al 12,000
01 s =l 30,000 40,000 A 10,000




SA: HASAL
=
o

HH: ALEZ
SR MBS AAXIND) (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02d22Y 29 (3HEXH ,AL2E)
40,000& * 7509 30,000
Dl 15,000
< 3,000
Al 12,000
NS BAHAAY SAtd 22 G223 WEAY 1,960 1,960 0
Dl 980
Al 980
201 Bt A | 1,960 1,960 0
J| 980
Al 980
01 AP 22l Yl 1,960 1,960 0
ONE0H N=x Z§H| 1,960,000 = 1H 1,960
J| 980
Al 980
298y AeMAHRS 7,735,017 4,286,238 3,448,779
= 1,802,258
Jl 1,835,715
& 1,074,769
Al 3,022,275
StA S HSIALY 109,739 117,649 AT7,910
101 @121l 27,519 35,429 AT7,910
04 JI2ZtH22XNEE S 27,519 35,429 AT7,910
oY A=I2tMZ2 2 A 27,519
(@)siFals] 79,4703 * 2 x 262 x 6F 24,795
O4UEE I3 2,724
-=0lHA= 24,795,000& * 4.50% 1,116
-AH2LEE 24,795,000& * 3.43% 851
AU 851,000& * 11.52% 99
-1E28E 24,795,000& * 1.65% 410
“MTHEE 24,795,000& * 1.00% 248
201 L2 9| 2,400 2,400 0
02 352494l 2,400 2,400 0
oOg9A=sdH KA 400,000& = 6CH 2,400
206 T 2 bl 79,820 79,820 0
01 &2 bl 79,820 79,820 0
OAXZ(AZHM S 55) 70,800
[@)=RaE 30,000& = 1¢ * 880M 26,400
Ooxsgdys 30,000& = 14 * 4804 14,400
ogned 30,000& = 12 = 1,00074 30,000
oYY g HMES 720
Oo&g= 90,000& = 494 360
O&H X)) 15,000& * 494 60
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SN BHABAL
Bu: AYEH
ool 2 BRAWNTS (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
“ZEEA 5,000& » 309H 150
MESZEELE 8,420 » 3209H 2,695
OX XM =R AT At HI 187,320
-QI S F AU ALY 10,000& * 7,200 72,000
-o2J12 ¥ Al
19,220& * 6,000 115,320
OUHLESAY ASTSAZS(FAI )
1,717,000 1,717
OZA 29 31,910
23 A 90,0003 » 90 A 8,100
Ogel& At 90,0003 » 120 A 10,800
OdE (S, Hiol= S)ZA
90,000& » 70 A 6,300
o849 (L&, 2ct0ICIor) A A
13,0002 * 200AH 2,600
OAg 2t Z A 555,000& * 2&8tA 1,110
O3& ZAM 250,000& » 129 A 3,000
OgMEA2H 320
Oglaeo 2= It 40,0003 = 8¢ 320
05 RIZHRI & 3 28,600 28,600 0
Ostu g 2te| 28,600,000 = 10024 28,600
st e 2el X & 15,162 16,632 21,470
= 7,581
< 7,581
301 LEPEXZ 15,162 16,632 AN 1,470
= 7,581
< 7,581
01 MEIBEE 2053 15,162 16,632 21,470
OgtddZ2 It MAHH XF  2,166,000& = 7H 15,162
= 7,581
< 7,581
StMIOITI G At Tl ff X+ AH 2 X| & 89,760 81,600 8,160
= 89,760
301 LEHF 89,760 81,600 8,160
= 89,760
01 Ml28E+06l= 89,760 81,600 8,160
Ostdl Il oH Ak Il off Xt &4 & X &
170,000& » 449 » 123 89,760
= 89,760
Olol=s & 4o 56,848 61,852 A5,004
J| 28,424
< 8,527
Al 19,897
307 21201 A 56,848 61,852 A5,004
J| 28,424




SN BHABAL
Bu: AYEH
& 2EY 2eMAHRS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 8,527
Al 19,897
01 2724l 56,848 61,852 25,004
OHIV/AIDS & =8I 53,120,000 53,120
J| 26,560
< 7,968
Al 18,592
OHIVRIEAISE F0H S 2,750,000& 2,750
J| 1,375
< 412
Al 963
odmizgd 38 & I=sXA 978,000& 978
J| 489
< 147
Al 342
SIH Y E S A Al 3,433,972 3,302,080 131,892
J| 1,716,986
< 515,096
Al 1,201,890
307 21201 A 3,433,972 3,302,080 131,892
J| 1,716,986
= 515,096
Al 1,201,890
01 =L =4l 3,433,972 3,302,080 131,892
oneolHeEd=E 2,091,800,000& 2,091,800
J| 1,045,900
< 313,770
Al 732,130
O0eold R & xSt QS FAHXL
HEES 362,000,000 362,000
J| 181,000
< 54,300
Al 126,700
O13M Oglol ASRAX HYES
42,800,000& 42,800
J| 21,400
< 6,420
Al 14,980
OYA R QAESZAHI HHTES 23,800,000 23,800
J| 11,900
< 3,570
Al 8,330
OHPV 1Xt EE22 X1 HEEE  29,000,000& 29,000
J| 14,500
< 4,350
Al 10,150
OHPV DIE S A HYES 164,600, 000& 164,600
J| 82,300
< 24,690
Al 57,610




SN BRBAL
HH: ALEZ
ool 2 BRAWNTS (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ogel HEgEs 711,772,000 711,772
| 355,886
< 106,766
Al 249,120
OBE2tE F=4tJ1ZE Gl ALY 8,200,000& 8,200
bl 4,100
< 1,230
Al 2,870
A Z S0 &AL 79,213 88,575 A9,362
| 39,607
< 6,116
Al 33,490
101 14 Hl 35,501 31,753 3,748
| 17,751
Al 17,750
04 JIZHHZ2XRHEE S 35,501 31,753 3,748
Oz 2S A 35,501
Ol 84,0403 * 1Y = 26 » 123 26,221
| 13,111
Al 13,110
Ol 80,000& = 1H » 12& 960
| 480
Al 480
O4UEE JIA22E3 2,925
-=20dHZ 26,621,000& * 4.50% 1,198
| 599
Al 599
-HAEE 26,621,000& = 3.43% 914
J| 457
Al 457
ISR H 914,000& * 11.52% 106
J| 53
Al 53
-IEEE 26,621,000& = 1.65% 440
J| 220
Al 220
-MHEE 26,621,000& * 1.00% 267
| 133
Al 134
ORgZzf=¢ 50,000& = 18 » 123 600
J| 300
Al 300
OZd22 1= 305,000& = 1H 305
| 153
Al 152
OG &5 tdl 200,000& = 1H =« 23| 400
J| 200
Al 200




SN HRABAL
MY AYEX
Sl 2y BAMNRS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=XNEQAUE 300,000& = 1H = 13 300
J| 150
Al 150
o1l =l 90,000& » 1H 90
J| 45
Al 45
O& &=z 3,700,000 * 19 3,700
J| 1,850
Al 1,850
201 et 4,136 4,104 32
J| 2,068
< 620
Al 1,448
01 At 22l 4,136 4,104 32
OEES(2E# S 28)
1,000& = 28 * 2,068 4,136
J| 2,068
< 620
Al 1,448
202 044l 2,940 3,088 A 148
J| 1,470
Al 1,470
01 = LH o4 1l 2,940 3,088 A 148
oagZctae] G2 A ol 2,940,000 2,940
Jl 1,470
Al 1,470
301 LEEd = 1,000 1,000 0
J| 500
< 150
Al 350
01 MI2EZE 06z 1,000 1,000 0
OYAIHI MAHH X  1,000,000& = 1H 1,000
J| 500
< 150
Al 350
307 21201 A 31,636 44,630 AN 12,994
J| 15,818
< 4,746
Al 11,072
01 922724l 31,636 44,630 A 12,994
Ogod =X A& 780,000& 780
Jl 390
< 117
Al 273
OYATHI LAHl XA 884,000 884
J| 442
< 133
Al 309
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2N

MY AYEX
Helr Z2ZE 2eMAT= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MM =S s ¢ =22ld 3,000 3,000 0
J| 1,500
< 1,500
201 £B-2d| 3,000 2,000 1,000
J| 1,500
< 1,500
01 At 22/l 3,000 2,000 1,000
OMZEH HHHSEY Ls4gH|
3,000,000& 3,000
J| 1,500
S 1,500
MM =S MBS FAHAR 5,798 5,700 98
J| 2,899
Al 2,899
405 XtAtE SHI 5,798 5,700 98
J| 2,899
Al 2,899
01 HAtH ESFH S 5,798 5,700 98
OMZSHY ZEUSS ZII5E)
3,670,000& = 14 3,670
J| 1,835
Al 1,835
OMEHY ZSHSE oIHIS))
1,168,000& = 10 1,168
J| 584
Al 584
OMZH Y ZSHSE IS
460,000& = 14 460
J| 230
Al 230
OMZHY ZEHSE 2
300,000& = 12H 300
J| 150
Al 150
Olevel C B35 200,000& = 104 200
J| 100
Al 100
DRLHY A YA X 77,176 13,400 63,776
2 38,588
< 38,588
307 glz2tol & 77,176 13,400 63,776
= 38,588
< 38,588
01 22724l 77,176 13,400 63,776
OZ2LH9 Ael & X =l 77,176,000 77,176
= 38,588
< 38,588




SN BHABAL
Bu: AYEH
ool 2 BRAWNTS (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZEEUS 166,481 0 166,481
201 £B-2d| 20,860 0 20,860
01 At 22l 20,860 0 20,860
oz 29 4,920
OZss2S(R=ZH S)
1,000& = 2& * 95004 1,900
OZ&g ZJ|47) g2 & 2
170,000& « 3CH = 23] 1,020
OxMgs gz & 2gy 1,000,000& =* 23| 2,000
odgllzgs 29 8,440
OHEREA Y L &40
150,000& * 107K 1,500
OdgaZ A eteXl 10,000& * 1004 1,000
OdgdEA SZHE 2UZ
165,000& * 6= » 63 5,940
OXorAel X3 7,500
OXorZel et & 500& * 5,00000 » 1& 2,500
OE M= DU Z
100& = 50,0000 = 1= 5,000
307 21201 A 145,621 0 145,621
01 922724l 145,621 0 145,621
OXotAel K& 32,500
OHXE XM 2 4,000& = 5,0000H4 20,000
OKF94 0tA3 500& = 25,0004 12,500
odgllgs 29 113,121
OVTM 92,9843 =+ 10000 » 12& 111,581
OZ2el=dE 7,700& * 2004 1,540
DL A HYEE XA (SIAH) 8,460 0 8,460
= 8,460
307 glz2tol & 8,460 0 8,460
= 8,460
01 2222l 8,460 0 8,460
O©ZD =2 L9 SOl At BH Al 5| A4 oH 8,460,000 8,460
= 8,460
D29 IEEES AA(AEY]) 3,315,739 0 3,315,739
= 1,657,869
< 497,361
Al 1,160,509
307 glz2+ol & 3,315,739 0 3,315,739
= 1,657,869
< 497,361
Al 1,160,509
01 922724l 3,315,739 0 3,315,739




SN HRABAL
MY AYEX
Sl ey BRANHTS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2ZLHY9 HLES AI&Hl  3,315,739,000& 3,315,739
= 1,657,869
< 497,361
Al 1,160,509
AZHANS S L HLEE =4 1,995,100 1,761,317 233,783
= 4,000
J| 951,128
< 353,905
Al 686,067
A2l ALY 54,470 66,005 A 11,535
201 LBt 2,470 2,470 0
01 At 22l 2,470 2,470 0
Os=2s 1,000& * 2,470 2,470
307 21201 A 52,000 52,000 0
01 =L =4l 52,000 52,000 0
oY 2elArY 52,000
OAE 2 AR (LM S 158)
20,000& = 2,60004 52,000
HEt Xt KI 2 AR (THOFR) (M 2HALR) 10,555 10,555 0
< 6,860
Al 3,695
201 ¢4l 2,800 2,600 200
< 1,820
Al 980
01 At 22l 2,800 2,000 800
oMitd 222 1,000& = 2,80004 2,800
< 1,820
Al 980
307 21201 A 7,755 7,755 0
< 5,040
Al 2,715
01 92724l 7,755 7,755 0
oO%z & 223 7,755,000 7,755
= 5,040
Al 2,715
S| AHXLEEX o =ZHl K& 452,422 500,000 NAT 578
J| 226,211
< 67,865
Al 158,346
308 A EHHSOIA 452,422 500,000 NAT,578
J| 226,211
< 67,865
Al 158,346
113 2SoHUHSBHEAEALS I 452,422 500,000 NAT,578
O35 HEEI 224 452,422,000 452,422




SN EARAL
HE: AYSH
Sl ARHANE PE U ABHY =4
- _ = dHEE
SN HH - (EH) - HRAY - BES 0] &b 2 el
o 026,271
= 67,865
Al 158,346
=R 1,900
201 Lyt HH| 1,900
01 At 22l bl 1,900
OBAAY L TAKBMY 222 M 1,900
CEELINE 5008 * 9505 475
OE22E 7Y 1,5002 * 9507 1,425
BUAYSXME 29 64,400
| 32,200
= 12,880
Al 9,320
307 212+01 & 64,400
o] 32,200
= 12,880
Al 9,320
EEEEE 64,400
OBMASSTME 29
64,400,0008 * 12 64,400
| 32,200
= 12,880
Al 9,320
HAASSTME 2 (XA 20,000
307 212+01 & 20,000
05 212t9IEt 3 20,000
ORI - FAUALSEAY
20,000,0008 * 102 20,000
HUASSNME oeias 413,413
o] 206,707
= 82,683
Al 124,023
307 212+0| & 413,413
o] 206,707
= 82,683
Al 124,023
05 BI2t9IEr 3 413,413
OBAUAYZTME ol2ss
13,413,000 * 1744 413,413
o] 206,707
= 82,683
Al 124,023
eszaxN el N 22,000
= 5,500
Al 16,500




SA: HASAL
=

Za: Y

Sl 2HUANB 25 U AV T4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 22,000 22,000 0
< 5,500
Al 16,500
05 RIZHRI & 3 22,000 22,000 0
ORSSEX Nzeld XA
22,000,000& * 1JH 2 22,000
< 5,500
Al 16,500
AaREN SsMHeY Xzd A 13,000 13,000 0
< 3,032
Al 9,968
307 gl2tol & 13,000 13,000 0
< 3,032
Al 9,968
05 RIZHRIE 3 13,000 13,000 0
OXAEX S2MY XY X2
13,000,000 * 1JH 2 13,000
< 3,032
Al 9,968
NS Ate! HaME WERD #5 4,000 4,000 0
< 1,200
Al 2,800
307 21201 A 4,000 4,000 0
< 1,200
Al 2,800
05 DIt s 2 4,000 4,000 0
OXZ AR XHaMY WERD *=
4,000,000& = 1JH 4 4,000
< 1,200
Al 2,800
HAALSNLEH S SAK H2HSH N 15,600 12,000 3,600
= 4,680
Al 10,920
307 21201 A 15,600 12,000 3,600
= 4,680
Al 10,920
05 BIZHRI & 3 15,600 12,000 3,600
OFUMAUL=EXNHEH & SAA MRMLH X2
15,600, 000& 15,600
< 4,680
Al 10,920
FAAEE Xzl KNE ALY 8,000 19,000 211,000
= 4,000
= 1,600
Al 2,400
307 21201 A 8,000 19,000 A 11,000
= 4,000




2N
X ZH -
L= B

el

s 7 W AY

o

3 x4

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

1,600
2,400

o
()]
o
S

Et
5

oy

_C,>__
SEE X=SHl X ALY
8,000,000& = 1JHz2x

©
0z

= H W

8,000

8,000
4,000
1,600
2,400

19,000

A 11,000

04

MALEXHEH THAHSAY X2

mn X

Al

70,978
35,488
14,197
21,293

70,978

307 21201 A

=z Hn Y

70,978

35,488
14,197
21,293

70,978

OZAUAULFIXNLE NHUSAE XS
70,978,000& * 1JH 24

Jl

H

Al

70,978

70,978
35,488
14,197
21,293

70,978

Il

= M

165,000
77,500
31,000
46,500

165,000

307 21201 &

Il

2l

Al

165,000
77,500
31,000
46,500

165,000

155,000,000& = 1JH A

=z HmnY

155,000

155,000
77,500
31,000
46,500

155,000

Il

H

Al

463,378
370,702
18,535
74,141

453,216

10, 162

=z Hn Y

296,892

237,513
11,876
47,503

293,463

3,429

01 At2 2t 2l bl

Og=EAAN ¢

1,372,000& = 198 « 128

Jl|

t

228,660
16,464

13,171
659

238,443

N9,783




AN FEABAL
Bu: AYEH
el ASHAANS 75 & A2EF &4 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 2,634
O33=Ad MIAXZAMNEDN =Y
100,000 * 2A 200
J| 160
S 8
Al 32
O3 &g 1,200
OXNSAME2AM 22 &=
100,000& * 23| = 4H 800
J| 640
< 32
Al 128
OXMSS=AANY Atdllal o &4
100,000& * 43 400
J| 320
< 16
Al 64
ou=l 90,000& = 209H 1,800
J| 1,440
< 72
Al 288
Ode=+I| 2eltl 32,000 = 4CH = 12& 1,536
J| 1,228
< 62
Al 246
OZJ1&8&J| &eldl 35,0003 = 404 = 12& 1,680
J| 1,344
< 67
Al 269
OFAEY =8 1,385,000& * 1% ~ 12& 16,620
J| 13,296
< 665
Al 2,659
OsZJ| etdze W2
130,000& » 1CH = 128 1,560
J| 1,248
< 62
Al 250
OXIDHCHA HEH ALY 2 Z HI 178,000
OXsSSs2el & =JIHAY
30,000,000& 30,000
J| 24,000
=) 1,200
Al 4,800
OXIH AN & ol 2el At
30,000, 000& 30,000
J| 24,000
=) 1,200
Al 4,800
OXIetaots 2 5,000,000& = 402~ 20,000
J| 16,000




SN BHABAL
Bu: AYEH
CHelr ARHANE PE U AABY =4 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 800
Al 3,200
OXMesHeEe L HEXAMZ
14,000, 000& 14,000
| 11,200
< 560
Al 2,240
OXIMetaMEH 20 2L &2 84,000,000 84,000
| 67,200
< 3,360
Al 13,440
OXIOHetAME 23l 800,000& « 12& 9,600
| 7,680
= 384
Al 1,536
02 8322l 28,232 15,020 13,212
OXIHCtAMHEH RBE 2523 26,952,000 26,952
J| 21,562
< 1,078
Al 4,312
QTv, 24, M3 65,000& = 12& 780
| 624
< 31
Al 125
OZ2IY HOK L A0 LI
100,000 * 53| 500
| 400
= 20
Al 80
03 A2 Z Hl 40,000 40,000 0
ORg, T2y UL AHQ 2
20,000,000& 20,000
| 16,000
< 800
Al 3,200
OXloHeta bl 29 20,000,000& * 10H 24 20,000
| 16,000
< 800
Al 3,200
202 odl 24,000 24,000 0
J| 19,200
< 960
Al 3,840
01 = LHA YI 24,000 24,000 0
OXIHgSR =&FAWHl 100,000& » 20 * 12& 24,000
| 19,200
< 960
Al 3,840
301 LEEAS 17,400 19,480 A 2,080




SN BHABAL
HH: ALEZ
Sl 2HUANB 25 U AV T4 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 13,920
< 696
Al 2,784
09 HALAHIX RS 10,000 17,080 AT,080
ORS, Z208 Y HHY 2Y S
8,500,000& 8,500
| 6,800
< 340
Al 1,360
OXloHeta bl 29 750,000& * 2JH A 1,500
| 1,200
< 60
Al 240
12 JIEtE &= 7,400 2,400 5,000
O33=d¢e 23X &bl
200,000& = 1H » 123 2,400
| 1,920
< 96
Al 384
OAIRIEN A3 5,000& = 1,000H 5,000
| 4,000
< 200
Al 800
307 2I2t0l A 125,086 101,714 23,372
| 100,069
< 5,003
Al 20,014
01 2L =4l 125,086 101,714 23,372
OXHex AMES XN&
35,000& = 150 » 12& 63,000
| 50,400
< 2,520
Al 10,080
0oz & =8 £E2F 32,086,000& 32,086
| 25,669
= 1,283
Al 5,134
OXIHEIZE HUAAH  150,000& * 200H 30,000
| 24,000
< 1,200
Al 4,800
XX 22eldl (HYl) X (MeAY) 133,196 133, 196 0
= 86,577
Al 46,619
308 XXM SO0l A 133,196 133, 196 0
< 86,577
Al 46,619
N 3JN2SUHUe3AHEAE A 133,196 133, 196 0
OXIOH Xl = 22l bl 133,196, 000& 133,196




SN HRABAL
HE: AYSH
Sl 2HUANB 25 U AV T4 o HE)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
< 86,577
Al 46,619
Aol 22=A2 X& 2,900 2,900 0
J| 2,320
< 116
Al 464
201 £B-2dH| 500 500 0
J| 400
< 20
Al 80
01 At 22l 500 500 0
odT X HIE S 500,000& 500
J| 400
< 20
Al 80
301 LetEA S 2,400 2,400 0
J| 1,920
< 96
Al 384
12IJIEBE243 2,400 2,400 0
oZBEA FENAY
200,000& = 1¥ = 12& 2,400
J| 1,920
= 96
Al 384
XOHEX SSHEXA 79,888 75,407 4,481
< 15,180
Al 64,708
307 glz2+ol & 79,888 75,407 4,481
< 15,180
Al 64,708
01 922724l 79,888 75,407 4,481
OXHeX =sHEXA 79,888,000 79,888
< 15,180
Al 64,708
XIOHQIAIN AR A (CIXIWE T2 29) 10,000 10,000 0
< 2,000
Al 8,000
201 Let249H] 3,500 2,400 1,100
< 700
Al 2,800
01 At 22l 3,500 2,400 1,100
OAME=EZIdH 22 & WENZE S
3,500,000 3,500
< 700
Al 2,800
301 LeHBAF 6,500 7,600 A 1,100




A BABAL
HE: AYSH
Sl 2HUANB 25 U AV T4 (B9 ®R)
- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
= 1,300
Al 5,200
09 HAIAHI XIS 2 200 200 0
OCXME T2 29 200,000& 200
o= 40
Al 160
12 JIEtE & =2 6,300 7,400 A 1,100
OJ|L X120l &= AH| 6,300,000& 6,300
& 1,260
Al 5,040
DHAIL Ots2 H2AIE P& 1,525,488 1,259,735 265,753
= 137,237
J| 54,773
&< 890, 121
Al 443,357
DAUEAHAS 12,000 ,400 600
201 LBt ]| 12,000 ,400 600
01 AP 22| H| 12,000 ,400 600
ORXNEHAY EE2EE M & 2¢ 12,000
OUAMETISAEXN S EEX ME
1,000 * 2= = 1,000 2,000
ORXNEAHANY 2222 ¢
2,500& * 4= * 1,000H 10,000
HAEMD AASA S HIAE 4,000 ,000 1,000
J| 2,000
& 1,000
Al 1,000
308 XNXISHSO0I& 4,000 ,000 1,000
J| 2,000
& 1,000
Al 1,000
11 BI2SHUSEANE AIS Y 4,000 ,000 1,000
OFAEAD AANMEBA OIS HI XA
4,000,000& 4,000
J| 2,000
& 1,000
Al 1,000
DAIAMOF HZUZEIAF XA (HEAISY) 911,232 ,150 200,082
& 637,862
Al 273,370
308 XAHXIGH SO0l & 911,232 ,150 200,082
== 637,862
Al 273,370
11 BI2SHUSEANSE AIS Y 911,232 ,150 200,082
OMNBAMOF HZ 22 A NI 911,232,000 911,232
= 637,862




SN HRABAL
HE: AYSH
S 240 ots2 A2 AE 8 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 273,370
xSt AT ot S EEHI 1,887 1,887 0
| 1,510
< 113
Al 264
201 LB-2d| 1,887 1,887 0
| 1,510
< 113
Al 264
01 At 22l 1,887 1,887 0
OAMHEZHI 1,887,000& 1,887
| 1,510
< 113
Al 264
S0t A2 H A 2,352 1,900 452
| 1,882
< 141
Al 329
308 XXM SOIA 2,352 1,900 452
| 1,882
< 141
Al 329
M 3JN2SUHUS3 &S A 2,352 1,900 452
OI =0t H&H| 2,352,000 2,352
| 1,882
< 141
Al 329
=0 YEHOH HLZHAH XA 5,050 2,337 2,713
J| 4,040
< 303
Al 707
307 21201 A 5,050 2,337 2,713
J| 4,040
< 303
Al 707
01 2=2L =4l 5,050 2,337 2,713
OZ®O0F L EH0 LT A 5,050,000& 5,050
| 4,040
< 303
Al 707
AL CHALOl & Z AL 2 & ot2te] 18,964 23,040 N4,076
| 9,482
< 4,741
Al 4,741
307 glz2tol & 18,964 23,040 N4,076
| 9,482
= 4,741




SN BRBAL
Bu: AYEH
& 240 ots2 HLAE & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 4,741
01 222724l 18,964 23,040 N4,076
OHEE UAOI&E AL & E0ot2tel
18,964,000 18,964
J| 9,482
< 4,741
Al 4,741
Y HEIA L 2FI XA 1,000 2,000 21,000
J| 500
= 250
Al 250
307 g1+l & 1,000 2,000 A1,000
J| 500
< 250
Al 250
01 22724l 1,000 2,000 A1,000
OZAHl & &I X 1,000,000 1,000
| 500
< 250
Al 250
Ol=0F ¥ A& S0I&0t o= 39,000 40,960 A 1,960
J| 19,500
< 9,750
Al 9,750
307 21201 A 39,000 40,960 A 1,960
J| 19,500
< 9,750
Al 9,750
01 92724l 39,000 40,960 A 1,960
O0l=0t & L0140t 2 =H|
39,000,000& 39,000
J| 19,500
< 9,750
Al 9,750
HESAEHE 1,718 1,718 0
J| 859
< 429
Al 430
308 XXIEHHSOIA 1,718 1,718 0
J| 859
< 429
Al 430
13 2SOHEHE & X 2 AL I 1,718 1,718 0
COEZEZANEATF 1,718,000 1,718
J| 859
= 429
Al 430
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159,413
53,137
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16,443

N5,183
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2,000& = 45004
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10,360

15,540

25,180

= PNR=: [N E-

1,036,000& = 10H

10,360

10,360

15,540

A5,180

Il

H

Al

30,000
15,000
7,500
7,500

30,000

307 glztol &
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30,000
15,000
7,500
7,500

30,000

©
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40
0o
0o
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S
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|28 XI&

30,000,000&

= M

30,000
30,000

15,000
7,500
7,500
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HASEE JIMAH ZME2R NEBAMY

Z W

274,475
137,237
68,619
68,619

207,500

66,975

308 XM S0IHE

= W

274,475
137,237
68,619
68,619

207,500

66,975
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274,475,000&

= M W

274,475

274,475
137,237
68,619
68,619
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SN BRBAL
Bu: AYEH
el oerael (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ol efzte| 46,050 81,982 A 35,932
J| 15,700
< 7,750
Al 22,600
I s N&&EH 2,450 2,407 43
201 Let249] 2,450 2,407 43
01 At 22l 2,450 2,407 43
OMAHDIY & A 22
950& * 2,0004 1,900
O3FZA&=E HMEH 550,000& 1 550
AsaEEH)| ESXE 28,600 15,000 13,600
J| 14,300
< 7,150
Al 7,150
405 XHoHF S HI 28,600 15,000 13,600
J| 14,300
= 7,150
Al 7,150
01 et EZF S 28,600 15,000 13,600
OXsaETSAI 2,600,000& = 1104 28,600
J| 14,300
< 7,150
Al 7,150
B MESHEE 2ERA 2,000 2,000 0
J| 1,400
< 600
307 21201 A 2,000 2,000 0
J| 1,400
< 600
01 927 24| 2,000 2,000 0
O2=2ABAHNE 2,000,000& * 1M E 2,000
Jl| 1,400
< 600
ol HAX Ot Usd J 22 10,400 35,100 A 24,700
405 XH&bF S HI 10,400 35,100 A 24,700
01 AL ESFH S 10,400 35,100 A 24,700
oOnsSaEFEAHDI 2,600,000& * 4CH 10,400
AL AAsHEFEAD| A 2,600 27,000 A 24,400
405 TtebFH S| 2,600 27,000 A 24,400
01 AL EZFH S 2,600 27,000 A24,400
OXsaESADI 2,600,000& * 1CH 2,600
HYRITH (HFABAHAL) 2,019,547 1,902,460 117,087
= 72,300
J| 392,950




2N
X ZH -
L= B

el

ro gt o4

ALAL
HegBy (BR2AL)
SEXT

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 59,042
Al 1,495,255
ol 2 gl 1,817,179 1,735,725 81,454
= 72,300
J| 392,950
< 59,042
Al 1,292,887
2| 902,450 962,393 A 59,943
101 14 Hl 902,450 962,393 A59,943
01 2= 232,621 195,138 37,483
oYstx, 232,621
OznIRLY
10,9523 = 59 = 30AI2t = 128 232,621
02 JIEtE B = 76,281 73,960 2,321
OLBAIM 3,412
OZn224Y
14,2153 = 1H » 20AI2H » 123 3,412
ORI E 1,997
OZH2R+E
11,0923 = 1% = 15A12t = 128 1,997
OZ2ZTEAHAM 70,872
(OFSE=3-—"3—F Sy =) 64,800
-9l 1t 1,350,000& * 2% * 123 32,400
-8t Ik, XI 1t 900,000& = 3¥ = 12& 32,400
oflg=22+¢ 40,0002 * 5F * 123 2,400
Oozgge=4 50,000& = 28 » 123 1,200
OxuU=22E 2,472
-t 13,1543 » 1H » 4A2H « 123 632
-= 4 9,579% * 49 x 4AI2F « 128 1,840
03 B2 (RIAHA)2Z2NHE > 593,548 693,295 A99,747
(@il 593,548
OPIR=== 205,298
-235E(0t3) 3,317,570& » 1H » 1228 39,811
-85 = (t3) 3,093,710& = 2% » 12& 74,250
-3 = (It3) 2,814,010& » 1H » 1228 33,769
7183 (0t2) 2,478,250 + 1H » 128 29,739
-4 E(0t=) 2,310,670& * 1€ » 123 27,729
OPIE-E= 18,720
-t < Xt 40,000& = 169 = 12& 7,680
-ZEHls 20,0003 = 6H » 123 1,440
ol DNIE 20,000& = 9% = 12& 2,160
1 PNIE 60,0003 = 78 » 123 5,040
-S IOl = XA 100,000& » 2% = 12& 2,400




SN BRBAL
MY BHSAAH(BEBAL)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o254 940,296,000& * 5% 47,015
O¥d=< 50,0003 * 29 = 12& 17,400
OfIg=+g 30,000& * 299  12& 10,440
ovla2Rag
8,000& * 20F * 5& * 123 9,600
OznIR4LY
18,8703 = 29% = 15A12t = 12& 98,502
O&F Mg Al 140,000& = 29% » 12& 48,720
OFEFItHI 78,360,900& * 50% * 23l 78,361
OAIIE &I 100,640& = 29% » 20 58,372
OB+ SHI(2tS A}
40,000& * 189 = 13 720
O2t2A=&H0HHI 40,000 * 109 = 13 400
Z4a0IA 122,450 0 122,450
303 T4 2 23,200 0 23,200
02 40z 23,200 0 23,200
OSRA(RIHA)ZZXN U003
800,000&  299H 23,200
304 A3RE=S 99,250 0 99,250
01 A3 EE3 40,694 0 40,694
OSRA(RIH)2E2X =0z JAELES
904,295,400 * 4.50% 40,694
02 SCALEES 34,592 0 34,592
OZ32RX(RINHY)2EXN IVUHLEH I8
g3 34,592
OHL=EE 904,295,400& * 3.43% 31,018
OFIAEE 31,017,340& * 11.52% 3,574
04 3R (RIHLY 2N VEBEZRLEIS 23,964 0 23,964
OSSR (RIHL) 22X NEEE JAELES
904,295,400& * 1.65% 14,921
OSRA(RIHS) 22X MITHANEE I
== 904,295,400& * 1.00% 9,043
NZ 20 SAI (2 E) 36,859 39,605 ~2,746
J| 18,429
Al 18,430
101 @124l 34,811 37,557 A2,746
J| 17,405
Al 17,406
02 JIEt A2+ 34,811 29,311 5,500
OAZEEHYIH SRE Jl=22
1,886,830& » 1H » 128 22,642
J| 11,321
Al 11,321
OAZIEEHYIH S duadd=
3,364,000& = 1H 3,364




SN BRBAL
MY BHSAAH(BEBAL)
S odEd2AY| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Pl 1,682
Al 1,682
OINEE 2,880
Ol At 40,0008 * 1¥9 = 128 480
Il 240
Al 240
Ozl 20,000 * 1 = 12&€ 240
J| 120
Al 120
O M AH 20,000& = 1€ = 12&8 240
J| 120
Al 120
O=sMAH 60,000 = 1 » 12&€ 720
J| 360
Al 360
OA I AHE 100,000& * 1¥ = 128 1,200
J| 600
Al 600
CNEEEES
8,887& * 1¥ = 20Al2t » 128 2,133
J| 1,066
Al 1,067
O™ IIE AlbY 6,490& * 1 » 7AI2F » 1Y 500
J| 250
Al 250
oOfIEZ2RxE 43,750 * 1H = 128 525
J| 262
Al 263
OEx2R2eE 90,560& * 1 » 12&€ 1,087
bl 544
Al 543
(OFSRE=ENN:] 140,000& * 1¥ = 128 1,680
J| 840
Al 840
204 & 2 £~ H H| 2,048 2,048 0
Jl 1,024
Al 1,024
02 A8 x| 1,523 1,523 0
O Al 2t 4R 2 I
145,000& * 1H » 35/40A12t = 12&€ 1,523
J| 761
Al 762
03 EHYRAY| 525 525 0
OAMNZtHERHADIH CHE & =H|
50,0002 * 1€ = 35/40A12t = 12& 525
J| 263
Al 262
MM HE SN (2F) 230,370 237,882 AT.512
Jl 184,296




SN BHABAL
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chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 9,215
Al 36,859
101 @144 dl 216,037 223,549 ANT,512
| 172,829
< 8,642
Al 34,566
02 JIEt R 2+ 216,037 223,549 NT,512
OANAHEHAIIN SR J2=
1,845,900 » 7H » 128 155,056
| 124,045
= 6,202
Al 24,809
OAZIEEH I H S2& duadds
17,666,000 17,666
| 14,133
= 707
Al 2,826
o€ 43,315
OHABESE 5,760
-t = Xt 40,000& * 59 + 128 2,400
J| 1,920
< 96
Al 384
&l 20,0003 = 1H « 128 240
| 192
< 10
Al 38
e PNIE 20,0003 * 494 » 12& 960
| 768
< 38
Al 154
1. PNIE 60,000& = 3H » 123 2,160
| 1,728
< 86
Al 346
SNEEERY=
8,887& * 7H * 20AI2t = 128 14,931
| 11,944
= 597
Al 2,390
Os+me+g 83,5752 » 79 « 128 7,441
J| 5,953
< 298
Al 1,190
QA2 &I 6,350 * 7H « 77TAI2t 3,423
| 2,738
< 137
Al 548
OFAZ A 140,000& » 798 = 128 11,760
J| 9,408
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M ANSHAY(BARAL)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 471
Al 1,881
204 &R AH| 14,333 14,333 0
J| 11,467
= 573
Al 2,293
02 238 x| 10,658 10,658 0
OAZFE DX
145,000 ~ 7 » 35/40A12t = 12&€ 10,658
J| 8,527
& 426
Al 1,705
03 EHYLRAY| 3,675 3,675 0
OANZtSHERHAUIIH CHE & SH|
50,000 « 7% x 35/40A12t = 12€ 3,675
J| 2,940
& 147
Al 588
2IHEEZE S22 QAHHI(EX) 26,780 26,780 0
J| 13,390
Al 13,390
101 Q121 H] 26,780 26,780 0
J| 13,390
Al 13,390
03 22X (RIHSY) 22X E 26,780 26,780 0
ONYEEEZTSEMHRY 250138 (1Y)
26,780,000 26,780
J| 13,390
Al 13,390
K EAE] SSAHUZSTAIYE (EX) 223,560 212,760 10,800
J| 111,780
= 22,356
Al 89,424
101 @124 H] 223,560 212,760 10,800
J| 111,780
& 22,356
Al 89,424
03 2L (RIHSY) 22X E 223,560 212,760 10,800
OSSHAUZSAAY HM2012 o1 AHH|(9Y) 223,560
(@il 221,400,000 221,400
J| 110,700
= 22,140
Al 88,560
O&2odE WFH| 240,000 = 9™ 2,160
J| 1,080
= 216
Al 864
KNAAE A 2HIAHA(ER) 130,110 123,810 6,300
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SN BRBAL
MY BHSAAH(BEBAL)
crel: Jl2 A CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=ZHI(J1E&HI)
8,000& * 69 * 7 123 46,368
OZ22R(RJAHA)2Z2 X L=
90,000& = 299H 2,610
02 =224l 10,740 12,558 N 1,818
oOfERI 10,740
Og et 4003 * 1,800 « 123 8,640
OsJl 2,500& * 708 = 12& 2,100
202 oddl 98,800 77,952 20,848
01 = LH o4 1l 67,600 37,152 30,448
OJI&Z 20,0003 = 569 = 5 » 123 67,200
OZ2RA(RINHA)2E2T 2ASH NI
40,000& = 102 400
02 M0 31,200 40,800 A 9,600
OUANESEX EHANHI 31,200
Oolormels MEehs
200,000& = 3¥ » 12& 7,200
OsXg $E2d =4
200,000& = 19¥ » 12& 2,400
OseneY g2 23
200,000& = 99 « 12& 21,600
203 R =&l 12,800 11,900 900
02 Ity =2 3,920 3,560 360
OF AL R = A 40,0003 = 98¢ 3,920
04 FEANSEHE=LH| 8,880 8,340 540
ORN2IYRZ=AHI 8,880
Oo8adxa 8,880
-30@! Ol ot 400,000& = 12& 4,800
-30Q0 =1t 5,000& = 68% = 12& 4,080




